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RRCPB) =% [ERCHHE) [ $# (&) JAL [JTA/RAC| 25400 62% | H:26,500, 7K:26,800, &:25,700, € +:27,100, H:24,300
TR |48 (e [JTA/RAC]  JAL 25,400 62% |7K:24,000, %:26,100, F:24,000. H:27.600
RRCHE) =RE [RR @B E[FE@H) | JAL [JTA/RAC[ 26,600 64%  |7K:27,100, 127,100
XBx (B§7E) | JAL JTA 36,500 55% | H:37.000, +:37,200, H:36.100
fiagk |48 (F8E) [JTA/RAC| JAL 25,800 65% | H:26,000, 7K:25,500, £:26,400, +:25,500, H:27.300
KB (771 =% Bl | KR (A %[ BRE CHE) | JAL JAL 23,600 68% |/K:23,900. £:26,600. T:25,800. H:26,300
AIEEFTFR)|  JAL JAL 19,500 73%  |7K:25,100, 7K:21,600, £:22,500, +:26,000, H:24,400
ZimplR |[HEECHE)| JAL JAL 24,800 66% | 7:25,500, £:28,000, F:23,700. H:27.300
AIE@FTFR)|  JAL JAL 20,300 72%  |%:22,700, £:20,400. H:28,400
KBy (B8#E) =i Bl | KAk (BA7E) % | BRE CHE) | JAL JAL 23,600 68% | 7K:23,900, %£:26,600, F:25,800. H:26,300
AIEEFTFR)|  JAL JAL 19,500 73%  |7K:25,100, 7K:21,600, £:22,500, +:26,000, H:24,400
ZimplR |[HEECHE)| JAL JAL 24,800 66% | 7:25,500, £:28,000, F:23,700. H:27.300
AIE@FTFR)|  JAL JAL 20,300 72%  |%:22,700, £:20,400. H:28,400
KB (FFH =181l [ KB (FFD) FE[R/RCRE)|  JAL JAL 23,600 67% | 7:24,400, 7K:24,700, A:23,700, %:28,000., 1:26,200
BINFE [ERERCHHE)| JAL JAL 24,100 66% |/K:24,300, A:24,500, %:25,400, £:23,300, H:25,700
ABx (B8#E) =fB)JIl [ KBz (B8#8) F[RmmCRE)| JAL JAL 23,600 67% | 7:24,400, 7K:24,700, A:23,700. %:28,000, 1:26,200
FBJIZE |ERERCHE)| JAL JAL 24,100 66% |JK:24,300, A:24,500, %:25,400, £:23,300, H:25,700
KR (7 =8I3% | KBx R %[ RR CHE) | JAL JAL 25,600 63% | 7:26,600, £:26,800, F:27,700. H:23,500
BERFE [HRCHEH)| JAL JAL 24,500 65% [ H:24,400, K:25,200, £:26,700, £:25,000, H:26,000
K (BE#E) =#I3% | KBz (B7E) %[ 3HE CHE) | JAL JAL 25,600 63% | 7:26,600, £:26,800, F:27,700. H:23,500
HERFE [HRCHEH)| JAL JAL 24,500 65% [ H:24,400, K:25,200, £:26,700, £:25,000, H:26,000
KR (D) =5 [ KBR(FFD #[ERECHE) | JAL JAL 24,900 64% | H:25,400, £:26,300, 1:24,000. H:23,100
HLFE  |[RECHE)] JAL JAL 23,700 66% | H:23,600, &:24,600, £:25400, +:22,700, H:24,800
KR (BE#8) =5 | KB (B7E) %[ 3HE CHE) | JAL JAL 24,900 64% | H:25,400, £:26,300, 1:24,000, H:23,100
WL |[RECHE)] JAL JAL 23,700 66% | H:23,600, &:24,600, £:25400, +:22,700, H:24,800
KR (771 =BEgE | KBR (FFD SRR CHHE) | JAL JAL 23,400 62% | JKA:23,100, %:25,200, £:22,600, H:24.500
EEEFE |[ERCHHE)| JAL JAL 24,000 61% |7K:24,100, 7K:24,800, £:25,700, +:23,400, H:25,000
KBR (BETE) =EfE | KRR (BEFE) | RECHE)| JAL JAL 23,400 62% | JKAR:23,100. £:25,200, 1:22,600, H:24,500
BEEEFE |[ERCHHE)| JAL JAL 24,000 61% |7K:24,100, 7K:24,800, £:25,700, +:23,400, H:25,000
KR (FH ==iR [ KBR(FFD #[ERECHE) | JAL JAL 23,900 60% | H:22,400, £ :18,500, H:22,100
=RE [EmCHE)| JAL JAL 23,300 61% | 7:23,900. :23,100, H:20.600
KR (BE#E) ==iR | KB (BH#8) %R CHE) | JAL JAL 23,900 60% | H:22,400. :18,500, H:22,100
=RE [EmCHE)| JAL JAL 23,300 61% | A:23900, &: £:23,100. H:20,600
KR (D) =20k [KBR(RFD % HE JAL JAL 14,900 59%
[ETES HE JAL JAL 15,100 58% | H:15,300
KB () =EBFE|XRFHHK| EBRS JAL JAL 18,900 58% | +:20,100. H:20,200
BTER BERS JAL JAL 18,700 59% |%:19,400, £:19,100. H:20,300
KR (D =5=d | KBx (D) 448 (BR&) | JAL [JTA/RAC|  30.100 49%
B0 P48 (BRER) [UTA/RAC|  JAL 29,300 50%
KR (BT == | KBz (B7E) 448 (&) | JTA [JTA/RAC| 31,300 47% | H:32,400, A:31,600, £ +:32,100
TEH |85 [JTA/RAC]  JTA 31,300 47% % £:31,500, H:32,700
KR (P =F1E | KBR R 448 (&) | JAL [JTA/RAC| 24,100 63%
RiEFE |88 (F8E) [JTA/RAC| JAL 23,300 64% % H:24,700
Kk (BT =F1E | KBz (B7E) 5448 (&) | JTA [JTA/RAC| 32,500 50%
RiEF |88 (F8E) [JTA/RAC| JTA 31,400 52% % 1:31,300, H:32,700
Z2HEE (PE) =%#EH |2 HE (P8 E[LIEFFH)|  JAL JAL 18,800 72% |7K:22,300, £:21,800. F:23,200. H:23,300
ZiERIF [ALEFHTFR)|  JAL JAL 19,100 72%  [7K:19,500, 7K:19,400, £:19.600, +:20,400, H:23,600
AHE(PE) =Eh|2aE P PEGRE) [ JTA [JTA/RAC| 31,800 50% | H:32,900, K:32,700, £:32,100, +:32,500, H:33,100
TEHE |38 [JTA/RAC]  JTA 33,100 48% |%:33,400, £:33,800. H:34,400
ZHE(hE) =R |a5E () 5|4 (BBFH)| JTA |[JTA/RAC| 33,000 53%
LiIEZ 835 [JTA/RAC] JTA 33,200 53%
FLIR (BT F %) =/MA[RUIR G Fm) %[ mm CHE) | JAL JAL 21,700 66% B /K7:22,000, £:25,400, F:24,100. H:24,500
MMR% [BRCRA)| JAL JAL 21,000 67% | H:22,000, 7K:22,200, K:21,100, £:24,300, +:22,200
AIRF TR =M QR AU EFFR) R R/RACAA)| JAL JAL 30,000 58% | H:30,500. /KA H:30.400, % 1:32,300
FftEESR [RECRA)| JAL JAL 27,400 62% | H:27,700, %£:29,000, F:28,800. H:29,200
IR FH TR =R [ g TR 2[R HIE) | JAL JAL 26,200 64% | H:27,000, /K AK:26,400, £:29,700, £:29,300, H:30,600
RS [HRCEE)| JAL JAL 25,200 65% | H:25600, 7K:25,800, &:26,100, £:28,100, + H:27,700
IR EFTFR) =LEBIRE TR [ TFCAE)| JAL JAL 30,000 59% | A sKA:30,500, £:33,100. +:31,400. H:32,800
LEE% |HRCPA)| JAL JAL 28,100 62%  |7K:29,000, 7K:29,100, £:30,900, +:30,400, H:30,200
AIRF TR =LOFHALREFFR) R[R/RACAA)| JAL JAL 29,700 62% |%:31,300, :30,200. H:33,200
WA=FER%E SRR CHE)|  JAL JAL 30,500 61% |7K:31,400, K:31,300, £:31,700, +:32,400, H:30,100
AR EFTFR) =HEHREG TR R[TFTCAH)| JAL JAL 31,000 56%
HER [HRCEA)| JAL JAL 31,000 56%
WRFHTHR) =EES[LEEF TR R/ HHE)| JAL JAL 30,700 57% | H:31,500, 7K:30.900, &X:31,000, £ H:32,200, 1:31,800
EEF |[HERRCHHE)| JAL JAL 30,200 58% | H:30,600, A:30,700, £ H:32,200, £:31,500
IR FHTHR) =R [LEEFTFR R[HTHHE)| JAL JAL 32,000 55% | H:32,500, /K A:32,400, £+ H:33,000
=% |[ERCRA)| JAL JAL 31,400 56% | B sK7:31,800. £ £ H:33,000
IR GFFR) =2 MR EF TR [ /FCAE) | JAL JAL 34,200 54%
=A% |[ERCHHA)| JAL JAL 32,600 56% | H:33,600. 7K:33,800, A:33,300. %+ H:34,200
IR FH TR =g TR R[RTHIE) | JAL JAL 34,900 53% %1 H:36,200
WILE  [ERCHHE)| JAL JAL 35,400 53% /KA % 1:36,200, H:36,100
IR EFR) =AM [ALIE FFm) [ Rm CHE) [ JAL JAL 28,300 65% | H:29,100, 7K:28,500, A:28,600. %:34,000, 1:30,600
A [HERECHE)| JAL JAL 26,900 66% | H:27,300, A:27,500, %:32,000., £:29,100. H:31,000
WIRFHTR) =KA[HLIRG TR R[HTHHE)| JAL JAL 30,100 62% | H:29,900. 7K:30,200, A:30,800. %:33,300, £:31,800
A9% |HRCPHA)| JAL JAL 31,400 60% |7K:32,300, A:32,500, %:33,400, 1:34,500, H:34,700
IR FH TR =RB[LIEEFTFH R/ HHE)| JAL JAL 31,500 62% | H:32,300, /K AK:32,100, £:34,400, £:34,600, H:36,400
EIG%E ["mCHE)| JAL JAL 29,800 64% | H:31,100, 7:30,600, £:33,500, +:32,500, H:35.500
IR FH TR =BALEGF TR R/ HHE) | JAL JAL 31,500 61% | H7k:31,900, K:32,200, £:35400, £:34,300, H:35600
AR |[HRCPHA)| JAL JAL 31,000 61% |7K:31,900, 7K:31,800, %:34,400, +:35,600, H:35500
WIRFHTR) == B[ LIEGEFTFR R/ HHE)| JAL JAL 29,000 64% %::32,100. £:30,300. H:33,800
TR |[ERCRA)| JAL JAL 27,100 66% | H:27,300. 7K:26,600, 7:26,800
R FTFHR) =ERSARGTRR[EFZCAR)| JAL JAL 30,200 63% | H:31,800. /K:28,600. A:29,300
EBR ERCEE)] JAL JAL 28,700 65% | H:30,100. 7K:29,100, 7:29,400.




HIRETR) =HEMB) (IR T8 K| BECRE) | JAL JAL 30,800 64%  |7K:32,800., K:31,400, £:37,800, +:34,300, H:35,000
XBRFFD|  JAL JAL 21,200 75% % H:24,000
ZHEE (P&  JAL JTA 30,900 64% | H:32,600. A:31,300, £ 1:33,000, H:34,700
12 JAL JTA 30,600 66% |/K:31,600, £:31,100, F:32,400. H:33,900
hEE(RE) R RFECHE) | JAL JAL 29,700 65% | H:29,800. 7K:29,900, 7K:30,600, £:32,100, +:31,400
AER(BEFRD| JAL JAL 17,200 80% 7K:18,400. T H:18,400
ABR(BAFE) | JTA JAL 29,300 66% | /KA:31,600., %:32,500, £:32,800, H:31,100
Z2HEE (P& JTA JAL 31,600 64% |+ H:32,100
12 JTA JAL 30,600 66% |7K:32,000, 7K:33,000, :31,100, +:32,800, H:32,400
LI TR =R\ [LEGEFTFH R/ HHE) | JAL JAL 41,100 61% | H:41,400, &:49,700, £:43,300, +:43,100, H:45,800
WEFTHR)=FHE| FHEFE [HRCHEHA)| JAL JAL 40,900 61% | 7:49,700. 3 £:38,700. H:43,200
12 =% Rl mE% [ERCHAE)| JAL JAL 31,500 65% |7K:31,800. 4 k34,800, H:35.800
AIE@FTFR)|  JAL JAL 22,000 73% _|7K:23,400, A:24,000, F:24,300. H:27,500
ZimplR |[HEECHE)| JAL JAL 30,900 65% |7K:32,200, K:31,200, £:38,900, +:32,000, H:35.200
AIE@FTFR)|  JAL JAL 20,700 75% | £:20,000. H:26,000
fEE =8I EEFE  [ERCEE)| JAL JAL 29,700 66% | H:29,600. /K:30,800, #:29,800. £:34,400. 1:33,600
fEE =8I JBINI%E  [ERCHE)| JAL JAL 30,300 65% | H:30,800. 7K:30,600, #:30,900, £:35,100, H:33,300
12 =8I EEFE |[ERCHE)| JAL JAL 33,500 61% |4 £:36.400. H:33,000
HEFE [HRCHEH)| JAL JAL 29,800 65% 1K +:32,000. B:33,700
[EEEEDN wE%  [RECHE)| JAL JAL 32,300 62% A H:32,600, %:35,000, £:33,500
HLE%E |RRCRAA)| JAL JAL 30,500 64% | 7:30,700, %£:36,000, F:29,700. H:32,700
&R =g wER [ERCHAE)| JAL JAL 29,800 62%  [7K:30,100, ZK:30,500, £:34,800, +:31,300, H:34,000
AER(BERD| JAL JAL 20,600 70% 7K:24,000, 7:22,800, £ £:24,000, H:24.600
HEEFE [ERERCHHE)| JAL JAL 28,900 63% | H:29,200. 7K:31,400, 7K:29,700, £:33,300, +:31,700
KBRFFD|  JAL JAL 21,700 69% /KA E:24,500. H:29,100
BE=F% wEFE [ERCHHE)| JAL JAL 23,000 70% |&+ H:23,800
KBRFFD|  JAL JAL 18,600 72% | A:18,900, % +:18,700, H:26,700
BEHRE [ERE@H)| JAL JAL 23,000 70% %+ H:23.800
KBR (FFD|  JAL JAL 18,700 72%  7:19,000. H:24,000
EEFE  |[ERCHE)| JAL JAL 21,000 72% &4
ZR¥ ([REGH)| JAL JAL 21,000 72% k.
XBR (FFD|  JAL JAL 21,200 69% | JKA%+:23,000, H:31,600
&R =#H BE%  [RECHE)| JAL JAL 31,700 55% |%:34,300, +:26,400, H:28,000
MEF [ERCHHE)| JAL JAL 31,200 55% | /:31,300, £:35,000, + H:28,200
KBR FFD|  JAL JAL 23,300 63% | H:26,100
&R =1L wE% [ERCHEE)| JAL JAL 24,800 59%  [7K:25,200, K:25,600, £:28,000, F:25,200, H:27,600
KBR FFD|  JAL JAL 24,900 60% A% +:25,000, H:26,200
W% [RECHHE)| JAL JAL 25,900 57% | X:26,000, % +:27,800
KB FFD|  JAL JAL 24,500 60% | H:30,500
&R = /MR wE%  [RECHE)| JAL JAL 25,900 61% [7K:26,100, 7:26,500, £ H:26,700. £:24,200
MR [RRECHE)|  JAL JAL 26,700 60% | 1:25,600
ERE== EE%E  [PEGRE) | JTA [JTA/RAC| 25600 50% | H:26,400, &%:25,900. £:26,200, H:26,300
TEHE |48 EE) [JTA/RAC]  JTA 25,700 50% | A H:26,400, £:26,000, £:26,200
EE=hR1E BEFE  [HPEGERE)| JTA [JTA/RAC| 26,500 54% | H+:26,600
AiER 835 [JTA/RAC] JTA 26,600 54%
Zimpl=1E% Zmpl R [AREFTFR] JAL JAL 16,600 69% |+:17,600, H:23,500
TEEH [HRFTFH)|] JAL JAL 19,600 63% | H:20,300, £:21,200, H:23,500
Bl =& ZimAl R [AREFTFR)|] JAL JAL 15,100 73% | A 7KA:15,500, £:18,800. £:17,300. H:24,200
& IR BT JAL JAL 15,500 73% |[H:16,100, /KK #£:17,200. £:19,200. H:23,600
Bl =% Zimpl R [AREFTFR)|] JAL JAL 19,400 67% |+:20,600, H:25,100
FrER  [ALE@HTFH)| JAL JAL 21,200 64% | +:22,200, H:22,600
i Bl = M2 Zimpl % [RECHE)| JAL JAL 22,600 69% | 7:22,900, %:24,200, F:21,300. H:23,000
MR [RRECHE)|  JAL JAL 21,800 70% 23,600, H:24,000
Zim Bl =R R |[RECHE)| JAL JAL 26,900 67% 29,400, £:27,300. H:29,000
mEL%E [HRCEE)| JAL JAL 26,100 68% 29,300,  H:29,600
ZimBl=IL8 R |[RECHE)| JAL JAL 28,000 66% %:31,300, £:27,400, H:31,000
bl =58 LE% |[ERCPA)| JAL JAL 28,400 65% | 7K:28,700, %:30,500, F:32,000. H:30,300
AIE@FTFR)|  JAL JAL 17,200 78% |/K:18,300, A:17,300, F:19,200. H:22,800
ZER=HE Zipl% |RRCHE)| JAL JAL 30,600 62% | A:31,400, £:33,000, F:31,300. H:34,100
HER [HRCEA)| JAL JAL 31,500 61% | HA:31,700, 7k:31,800, £:34,400, £:35,900, H:35200
Zim Bl =#l R |[RECHE)| JAL JAL 33,900 59%  |7:34,200. ¥ H:36,600. £:34,100
WILE  [ERCEE)| JAL JAL 33,500 60% %::36,700. T H:37,000
ZiRl=RiE Zipl% |[RRCHE)| JAL JAL 43,700 62% | H:44,000, &K:52,800, %:45400, +:44,400, H:45.900
AIER  |[ERCPA)| JAL JAL 42,900 63% | H:43,000, A:51,600, £:46,200, +:45,700, H:46.600
TR =72 fBJIZE  |ERECHE)| JAL JAL 21,900 69% . £:20,900, H:22,400
MR [RRCHE)|  JAL JAL 20,500 71% :20,600, %+ H:24,000
BN =it BiE fBJI% [ERFECHAE)| JAL JAL 21,100 73% 7] 3 +:22,400. H:24,600
EfEER [RECRA)| JAL JAL 27,500 65% |/kA:27,700. £:30,200. £:29,300. H:30,600
FEJI =FE L JBJIZE |ERECHE)| JAL JAL 26,200 67% |7K:26,400, % 26,400, H:27,400
RS [HRCEE)| JAL JAL 24,600 69% 7K:25,200, 7:24,800. £ H:28,800. £:28,900
B JBIN%E [ERCHE)| JAL JAL 30,700 61% B K7:30,900, £:32,900, F:31,600. H:33,600
Bl HER [HRCEA)| JAL JAL 29,000 63% |7K:29,300, K:31,000, £:28,400, +:32,700, H:31,200
B JBIN%E  [ERCHE)| JAL JAL 33,200 59% 7K:33,400, £:33,700. H:33,800
Bl WINE [ERCHHE)| JAL JAL 32,100 61% | H:32,000. 7/K:33,200, A:32,600. % 1 :36,800, H:36,300
EIT JBI%E  [EmCHE)| JAL JAL 43,000 62% | H:43,300, /K:43,200, A:51,800, £:43,100, 1:44,000
AIEHR  |[ERCPA)| JAL JAL 41,400 63% | H:41,500, /K:41,600, #:50,200, £:43,800. 1:43,500
HEE =/2 fBRFE |[HRCHHE)| JAL JAL 21,400 69% [£:23,400, £:22,600, H:21,700
A [RRECHE)|  JAL JAL 23,100 67% | 7:24,100, £:25500, B:21,700
HIEE =R HEEFE [HRCHHEH)| JAL JAL 26,200 67% |£H:27,700, £:28,100
RS [HRCEE)| JAL JAL 27,900 65% | A:29,000, £:29,200, F:31,500. H:27,300
R =L8 BERFE |[HRCHHE)| JAL JAL 28,400 64% |£:30,000, +:27,800. H:29,700
LE% |[HRCPA)| JAL JAL 30,400 62% | A:31,300, £:31,600, T:33,900. H:27,600
R =H=E BEFE [HRCHEH)| JAL JAL 32,000 59% |% H:33,900
HEX [RRERCHHE)| JAL JAL 33,500 57% | K:34,500, £:35,500, +:35,900. H:32,900
EEEE AT fEFE |[HRCHEH)| JAL JAL 32,600 60% |+ H:35,000
wmiFE [ERERCHEE)| JAL JAL 35,200 56% | 4:36,200, £:36,400, T:38,900. H:34,200




fE=Hh1E HERFE |[HRECHEH)| JAL JAL 42,100 62% | H:42,400, 7K:42,500, ZK:50,800, £:44,600, +:45,700
AEHR  |[ERCPA)| JAL JAL 42,000 63% | H:42,100. A:50,600. £ H:43,800, £:43,900
HBIL =/ HLa%E |RRCRA)| JAL JAL 21,400 69% 7K:21,200, A:20,600, F:20,300, H:21,500
NAFE [RRECHE)| JAL JAL 21,800 68% |%:23,200
L= L% |ERCRA)| JAL JAL 25,800 67%  %:26,600. H:26,500
RS [HRCEE)| JAL JAL 26,600 66% | A:26,700, £:28,100, T:27,800. H:27,400
HL=HE HLEFE |RRCPAA)| JAL JAL 31,200 59% | HA:31.400. £ H:32,700, £:30,600
HE R CHE)| JAL JAL 32,200 58% | B A:32,400, %:34,400, £:34,200, H:33,000
HIL=410 HLE%E |RRCRA)| JAL JAL 32,700 59%  [7K:32,500, Z:32,100, £:33,800, +:33,100, H:34,100
WL [ERCEE)| JAL JAL 33,900 58% 435,300, 1:35,200. H:34,300
HL=FRE HLEFE  |RRCRA)| JAL JAL 42,500 62% | H:42,800, K:42,300, &:48,900, £:42,300, +:43,400
AIEHR  |[RRCPA)| JAL JAL 40,900 63% | H:41,500, &:49,700, £:42,100, +:41,600, H:43400
BHEE=/1R HEER [ERCHE)| JAL JAL 21,800 64% 7K:21,900. A%:22,200, £ B:21,000
AT [RRCHE)]  JAL JAL 21,800 64% | %:23,600, 1:20,400. B:22,000
BEEE =L BAER [ CHHE)| JAL JAL 26,100 63% |7K:26,200, 7:26,500, £ +:26,700. H:27,000
fLL%E |RFECHE)| JAL JAL 26,100 63% | %:27,900, H:27,500
HE=LE BEEEFE |[ERCHHE)| JAL JAL 27,400 61% | HA:27.600. £ H:29.000, £:26,800
LE% |[HRCPA)| JAL JAL 26,800 62% | /K:27,900, £:28,700, + H:28,500
EEE=HE HEER [ERCHE)| JAL JAL 31,000 55% | H:30,600, A:31,400, £:33,200, +:31,900, H:32,500
XBR FFD|  JAL JAL 21,200 68% /KA £:24,000. H:26,000
HER [ERGHA)| JAL JAL 29,200 58% | H:28,800. 7K:29,600, 7K:30,300, £:32,200, +:30,400
AER(EFRD| JAL JAL 20,100 70%  |7K:23,500, A:22,300, %:23,500, £:23,900, H:22,400
BEEE=HAL HEER [ERCHHE)| JAL JAL 33,100 54% |7K:33,200, 7K:33,500, £:34,000, +:33,800, H:34,300
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IMA=TRE JAL JAL 23,900 60% |+:22,100, H:23,000
JAL JAL 23,400 61% . 1:21,800, H:23,000
IMA=ILOFE JAL JAL 22,100 66% :20,900, H:22,700
JAL JAL 23,400 64% +:22,500. H:22,700
IMA=HE JAL JAL 25,900 55% | +:24,600, H:25,600
JAL JAL 25,900 55% 5,800, H:25,200
IMA=TES JAL JAL 25,000 57%
JAL JAL 25,000 57%
INR=EH NS JAL JAL 24,400 59%
S F JAL JAL 24,400 59%
IMR=EH IV FE JAL JAL 26,800 56% |+ H:26,600
=% JAL JAL 26,800 56%
A= RN JAL JAL 26,300 57%
[NITE:S JAL JAL 26,300 57%
MR =JE RN N JAL JAL 23,100 66% . £:20,700, H:26,000
E[@IRLE. JAL JAL 22,100 67% :21,500, H:23,500
IMR=K% MR JAL JAL 25,500 61% | H:25400, A:26,400, £:27,800. T H:26,600
AD% JAL JAL 25,200 62%  |7K:24,800, 7K:25,000, £:26,100, +:24,600, H:27.900
IMNR=RIG NS JAL JAL 25,500 63% | H:26,300, %:27,100, £:25,300, H:25,700
RIE% JAL JAL 25,000 64% | H:25.900, K:25500, £:26,800, +:23,800, H:28,000
INA=RER AN FE JAL JAL 24,100 64% | A £:24,700. 7K:24,500. £:25,200, H:25,600
A% JAL JAL 24,800 63% | A skA:23,900, £:27,700. £:25,700. H:28,000
INR=E & MR JAL JAL 22,700 66% | A KA H:21,400. £:21,800. £:21,000
HIEF JAL JAL 22,300 67% B JKA:21,400. £:23,200, £:20,200, H:24.300
IMNA=ERS MRS €] JAL JAL 23,900 66% | H#£:24,200, sk:21,800, K:22,700, £:24,600, H:24,300
EBRE® |HRECHHE)| JAL JAL 24,300 65% | H:24,200, %£:25,600, F:23,400. H:26,300
IMA=EH R B RE) | JTA |JTA/RAC| 28,000 58% % +:31,400, H:32,200
o [ EBORE) [JTA/RAC] JTA 28,000 58% | H:28,300. /K:36,200, % 1:31,400, H:32,200
IMR=FR1E A% [EECRAE)| JAL JAL 36,900 60% | H:37.200, &:47,600, £:37,000, +:37,600, H:37.400
Sh#E(BE | JTA [JTA/RAC[ 28,000 62% |7/K:28,100, £:31,100, +:31,000. H:32,300
RER [RRCPHA)| JAL JAL 36,900 60% | B %:37,000, &:47,600, £:37,400, H:37,200
S48 (BRER) [JTA/RAC|  JTA 28,500 61% | H:28,800. 7K:36,700, &+ H:31,900
Eil== ELE  [P#EGRE)| JTA [JTA/RAC| 27,700 53% | H H:28.800. :28,000, £ +:31,600
TEHE |88 [JTA/RAC]  JTA 30,800 48% | A A:27,700. 7K:33,500, % £:28,000. H:32,800
EL=F&E EILFE [FEGRE | JTA [JTA/RAC[ 28,900 56% % 1:31,600
RiEg |88 (F8%) [JTA/RAC| JTA 31,700 52% B %::28,800, 7K:34,400, & £:28,600. H:32,800
EH=EE =A% 12 JAL JAL 21,700 56% | H:22,600
HIEHE 1= JAL JAL 21,700 56% | +:22,500, H:22,400
P GRER) =F & [MRBHR R[ETCHE) |  JAL JAL 29,000 64%  %:30,000, H:32,200
XBR FFD|  JAL JAL 17,300 79%  A:17,600, H:24,000
BEHRE [ER@H)| JAL JAL 28,400 65% |7K:29,800, £:35,100, F:31,400. H:27,800
| AR (R | JAL JAL 17,300 79% | A:17,600, H:22,500
| s (FRER) hEE(RE) R R CHE) | JAL JAL 25,500 68% | H:28,800, £:25,700, H:31,200
| s (FRER) R =] HRE(CHAE)| JAL JAL 25,200 69% | 7K:25,300, %:25,700, £:25,300. H:23,500
PHE (RER) =FNE [ (BB R[EFECHE) | JAL JAL 28,500 62% | 7:28,900, %£:30,700, F:25,200, H:27.600
KBR FFD|  JAL JAL 21,900 71% | H:23,200
MEF [ERCHH)| JAL JAL 30,500 59%  [7K:32,500, K:30,900, £:34,700, £:27,600, H:24,900
KBRFFD|  JAL JAL 21,900 71% | H:23,000
PHE (RER) =165 [hiE (BF) R [ KM (BFD | JAL JAL 29,600 63%
12 JTA JAL 36,200 56% | A:36,600. £:36,700, £ H:37,000
EER | KRUEEFD| JAL JAL 29,600 63%
120 JAL JTA 36,200 56% | %::36,700. T H:37,000
PHE (RER) = L2 [ (RE) F[EFECHE)|  JAL JAL 24,800 62%  %:25,000, H:27,200
AER(ERD| JAL JAL 23,600 69%
\iRz%  [RmCHE)| JAL JAL 25,800 61% |JK:27,200, % £:27,200, H:25,200
KB FFD|  JAL JAL 23,100 69% | H:24,800
PR GRER) =LE BB X EE JTA JAL 30,300 63% | A:30,700. £:30,800. F:31,300. H:32,300
KB FFD|  JAL JAL 22,200 70%  [7K:23,200, 7K:22,300, £:23,100, +:22,000, H:23,200
(=g 12w JAL JTA 30,800 62% |%::32,800, 1:31,600, H:35,700
XBRFFD|  JAL JAL 20,000 73% | H:23,100
PR (RER) = /MY [ (RER) R RR CHHE) | JAL JAL 25,500 64% |£:26,800, +:22,600. H:26,900
AR [RRCRA)| JAL JAL 24,800 65% |7/K:26,200, £:30,000, F:25,000. H:23,000
PGSR == HERR E| B JTA JAL 25,900 56%
SEES = JAL JTA 25,900 56%
PEEGRER) =L hE BB R | JTA JAL 24,100 56%
fIIE:S = JAL JTA 24,100 56% | H:24,500




HR(PHE)=EZXE[ER(CAEX| BERS JAL JAL 28,700 59% | A k:26,700, A:27,100. £+ H:30,900
KRB JAL JAL 20,200 70% | JKAK:25,100, £:21,400, H:24,600
BEXER | BERS JAL JAL 28,700 59% | H:29,400, %£::30,300, 1:28,600. H:32,700
AER(ERD| JAL JAL 21,800 67% /KA H:26,400, £:21,200
HR(PUA) =ERS|RRPHE)K| ERS JAL JAL 26,800 63% | AJK:24,700. :25,600, +:28,700, H:25500
BEXE | JAL JAL 24,900 61% % 1:25700
ERER ERE JAL JAL 27,200 62% | H:27,400, /K K:26,700., % £:27,500. H:30,700
BEXE | JAL JAL 24,900 61% B H:25700
HRHA) =#ZE|RR(PHE)K| ERS JAL JAL 28,100 63% B A:26,500, 7K:26,100, % £:30,300, H:31,100
BEKRE | JAL JAL 27,100 60% |&+:27,900
mEER BERS JAL JAL 28,100 63% | F:28,800, £:28,900, 1:28,000. H:32,100
HECRE) =4k BH|RACAH%| BERES JAL JAL 28,000 64% | A A:26,800. sK:25,900. £:29,900, H:28,200
HFECRE) =4k B KB | BERES JAL JAL 28,400 64% | H:29,100, %£:29,200, F:28,300. H:32.400
RPEA)=5% [RRPHRK EBERS JAL JAL 29,300 63% B JK:27,300, &:27,700, % £:31,500, H:32.400
RRE(CPHE) =53 5% BERS JAL JAL 29,300 63% | H:30,000, £:30,100, F:29,200. H:33,300
KR (F =8EXE[XRFFHE| ERS JAL JAL 22,800 60% | H:23,400, /K K:23,200, £:23,100, £:24,000, H:23,600
BEEAER | BERS JAL JAL 23,800 58% | %::25,300, 1:24,200. H:24,800
KR (R =ERE| ARG % _ERS JAL JAL 22,500 61% | +:22,700. H:22,900
BEXE | JAL JAL 17,800 66% [/KAH:22,700
ERER ERE JAL JAL 21,800 63% |£:22,500, £:22,200, H:23,700
BEXE | JAL JAL 17,800 66% [/KAH:22,700
KRR =E2E|XRFMH| EBRS JAL JAL 23,400 62% |+:24,200, H:23,800
KB () =28 EzE% ERS JAL JAL 23,200 62% |£:23,900, £:23,600. H:25,000
BEXE | JAL JAL 20,000 65% [/KA H:24,900
KR (R =k BB RKREFFHE| ERS JAL JAL 23,700 63% | +:23,900. H:23,800
KR (P =4k BE| KB | BERES JAL JAL 23,500 63% |£:24,200, £:23,900. H:25,000
KBR(FH =5# [KR(FHE] _ERS JAL JAL 24,200 63% | +:25400. H:25,100
BEXE | JAL JAL 23,600 63% [/KA H:28,500
CE: ERE JAL JAL 23,300 65% | H:26,000
ERE=EEXS FEES BERS JAL JAL 17,600 63% |H:18,700
BEAER | BERS JAL JAL 19,600 59% | A skA+:18,500, £:19,300
EBE=E88 FEES BEXE | JAL JAL 16,600 65% | H:18,900
EE==28 ERER | BEKE | JAL JAL 16,600 65% | H:18,900
B =1fz8 RS BERS JAL JAL 18,700 64% | H:20,600
BEKRE | JAL JAL 18,800 64% |H:21,100
mLER ERS JAL JAL 19,800 62% | AskA%£+:18,700. H:20,600
BEKRE | JAL JAL 18,800 64% |H:21,100
B =5k EE: ERE JAL JAL 21,000 63% | HAskA£+:19,900. H:21,900
BERE | JAL JAL 22,400 62% | H:24,700
RR(CAHA) =5ME[RRCAR)%| FHIE JAL RAC 38,000 52% | H:38,400, &K:43,000, £:38,200, 1:39,000, H:38,800
SMEFR |4 (BER) | RAC JAL 31,000 61% |/K:31,600, £:31,200, H:33,400
RiE RAC JAL 37,600 53% | H:37.800, A:43,000, £:37,700, +:38,400. H:38,600
AR (B =5HE| SHMEHR [HEFH)]| RAC JAL 38,600 47%  |/K:38, £:38,500, H:38,900
KBy (B#E) =5 ME | SHMEHR [+#EGFBH)| RAC JTA 38,600 47%  17k:38,900, :38,500, H:38,900
RiE RAC JTA 34,600 49% | F:36,300, £:34,900, H:35,300
2EE (M) =5NE[25E (h#%| "\ JTA RAC 34,700 52%
SHEFE |[#EGBE) | RAC JTA 39,900 48%
AiE RAC JTA 34,600 53%
BE=53E SMESR |4 (BER) | RAC JTA 29,700 54% |7K:30,300. A:30,100. £:30,600. T H:31,100
R (S =5 E P8 (FRE) %| fAiE  |JTA/RAC| RAC 11,600 70% | H:12,500
S ARE 5 fiE RAC [JTA/RAC| 12,200 68% | B4 H:12.400
HRHA)=AKRS|[HZCRE) F|H#FH)| JAL [JTA/RAC| 23400 60% |7/K:25,600, £:26,500, T:25,600. H:22,900
AKEFE |48 (HRER) [avurarac]  JAL 23,600 60% | %:24,100, £:22,500. B:25,000
KBk () =AKB[ X (B X8 @F) | JAL [JTA/RAC] 30,000 42% |7k:30,100, 0,600, B:31,100
AKEFE |48 (HRE) [avurarac]  JAL 29,200 43%  7K:29,400. 9,300, H:31,500
KBR (BETE) = A KB | KBk (B87E) % | 448 (BBFH)| JTA |[JTA/RAC| 30,000 42%  [7K:30,100, 0,600, H:31,100
AKEFE |8 ERE) [avuarac]  JTA 29,200 43%  7K:29,400. :29,300, H:31,500
ZHE(PEH) =AXB[2HRE P E[FEFFH) | JTA [JTA/RAC| 30,500 46%  |7k:30,600, A:31,200, :30,600, +:31,000, H:32,600
AKEFE |48 (HRE) [avuarac]  JTA 31,800 44%  7K:31,900. £:31,900. * H:32,300
BE=AXE EE%E  [EGRE) | JTA [JTA/RAC| 24400 44% | F:24,700. 7K:24,500, &:24,600. £:24,500, 1:24,800
AKEFE A8 (IRE) [avuarac]  JTA 24,400 44% | F:25,300. 7K:24,500, £:24,500, +:24,700. H:24,800
RRECHHE) =Rk [ERCHE) [ XREFD|  JAL JAL 20,500 60% [AK#£:21,400, £:20,600, H:19.400
HE JAL JAL 21,900 53% | A:24,200, £:22,800, 1:23,500
IRuE% | KERURFD| JAL JAL 19,900 61% |[/kA:19,600. £:19,100. H:19,800
HE JAL JAL 21,100 55% | H:21,900, % +:20,900, H:22,700
PHE (BRER) =#Tik [h#E (B | KBk (RFD | JAL JAL 17,600 76% | H:18,500
FimFE | RKBRURFD| JAL JAL 17,500 76%
BE=HRGTFR | EER |[HRCHHA)| JAL JAL 33,000 59%  |7K:33,900, A<%:33,800. £:34,100. H:32,000
HIEEH TR X[ RRCHE) | JAL JAL 34,000 58% | JKA:34,300. %:40,400, £:35,400, H:37,000
BEHE=%E5 BEAE  [AWETH| JAL JAL 15,900 67% |+:16,800. H:21,900
ZiEplF  [AEFHFH)| JAL JAL 15,900 67% | +:16,800. H:21,900
FUER =% 5 TREFE  [AREFH] JAL JAL 16,400 69% |+:17,300, H:22,500
ZiERIFE  [ALEFFR)|  JAL JAL 17,300 67% | +:18,200. H:22,500
2EE (P =%FL[25E (P R[HFFHE)| JAL JAL 17,800 72% |%:19,500, £:19,300. H:19,200
WL |[RECHE)] JAL JAL 16,200 75%  %:17,300, B:17.600
%o = (hEp) =78l |25 E (b)) %[ mEm CHE) | JAL JAL 16,100 76% | R:16,000. 7K:17,500, &:16,300, %+ H:22,000
JBJIZE  [BRECHHE)| JAL JAL 15,100 77% [ H:15,800, JK:15,500, &:15,900, £:15,000, +:15.400
B =%l % |[EFERCHE)| JAL JAL 31,800 61% |+ H:35,000
Zimpl% |[RRCHE)| JAL JAL 32,400 60% | A:32,700, £:34,400, 1:32,300. H:34,800
EE=%E5 EEH |[HRFCHAH)| JAL JAL 31,400 61% [£:34,600, +:33,500, H:34,500
Zipl% |[RRCHE)| JAL JAL 30,700 62% | A:31,000, £:33,900. H:33,700
R =% 5 An%FE  [RmCHE)| JAL JAL 23,400 73% %1 H:24,400
Zimpl % [ CHE)| JAL JAL 23,400 73% %1 H:24,400
R =255 R [HRCRA)| JAL JAL 23,900 74% |+ H:25,000
Al % [EEGEE)] JAL JAL 23,900 74% %+ H:25,000




REAR=%E5 REAZE |HR (23 H)| JAL JAL 23,900 73% >+ H:25,000
i R (P JAL JAL 23,900 73%
EEEE S JAL JAL 23,900 73%
JAL JAL 23,900 73% E
BRE=%i&5 JAL JAL 23,900 74% > H:25,000
JAL JAL 23,900 74% >+ B:25,000
LIRFTFR) =BEXS JAL JAL 33,900 63% | H:34,400, /K& H:34,300. £:36,300, 1:36.400
JAL JAL 31,300 66% | H:32,900. 7K:31,800, &:32,000, £ +:34,600, H:35,400
BER=BEXE JAL JAL 31,200 64% | 7K:31,600, £ +:33,300, H:30,200
JAL JAL 32,500 63% | H%:33,300, H:34.100
MH=EEXXES JAL JAL 33,600 58% |%:35,200, £:29,500, H:28,700
JAL JAL 32,000 60% | H:32,800, A:32,400, £:34,000, +:28,700, H:29,500
IMR=FEKXES JAL JAL 27,300 65% | +:26,900. H:26,100
JAL JAL 27,300 65% | H:28,100, +:26,100, H:26,900
B =4I JAL JAL 33,100 58% | /:34,100, %:34,500, £:36,900. H:32,500
JAL JAL 31,300 60% | %::33,200, 1:33,600. H:33,500
EE=1I% JAL JAL 30,500 61% |%:32,200, £:32,300. H:31,700
JAL JAL 31,100 60% >:32, +:32,000, H:32,400
Ko =HIE JAL JAL 22,400 74% T
JAL JAL 22,400 74%
Rig=4#I8 JAL JAL 22,900 74%
JAL JAL 22,900 74% E
EAR=HI JAL JAL 22,900 73% > H:23,900
JAL JAL 22,900 73% > 5:23,900
=i =4I JAL JAL 22,900 73% t H:23,900
JAL JAL 22,900 73% E H:23,900
BERS=9I% JAL JAL 22,900 74% t H:23,900
JAL JAL 22,900 74% %+ H:23900
LES=%h JAL JAL 29,100 63% | %::30,500, £:30,200. B:27,700
JAL JAL 27,600 65% |2 H:28,500, £:25,500
Bi=%h JAL JAL 31,800 59% |%:33,400, £:33,200. H:32,600
JAL JAL 31,200 60% |7K:31,000, 7K:30,500, £:31,600, +:31,300, H:32,300
RN JAL JAL 29,400 62% | H:30,000, £:30,600, 1:29,500. H:31,300
JAL JAL 30,300 61% :29,700, H:31,200
Xoy=®E JAL JAL 22,000 74%
JAL JAL 22,000 74%
RBE=%E JAL JAL 22,500 75%
JAL JAL 22,500 75%
EAR=%E JAL JAL 22,500 74%
JAL JAL 22,500 74% E
BE=%E5 JAL JAL 22,500 74% > H:23,500
JAL JAL 22,500 74% >+ H:23,500
BRE=Fk JAL JAL 22,500 75% > H:23,500
JAL JAL 22,500 75% > 5:23,500
JENTE=F" JAL JAL 31,700 60% 7K:31,900, £:31,900. H:32,400
JAL JAL 30,300 62% 7K:31,200. A:30,500, % H:34,800, £:35,000
EEE=50 JAL JAL 31,600 55% 7K:31,700. &1:32,000., %:32,100, H:32,800
JAL JAL 31,800 54% %::33,600. :31,600. H:33,200
HE=ES JAL JAL 30,100 57% | B A:30,300, %:31,600, £:30,400, H:31,700
JAL JAL 31,400 55% |%:33,200, £:31,100, H:32,700
RRCPE) =R Eﬁmmﬂa)% ﬁE JAL JAL 18,300 65% |H: ,800, A:19,000. £:21,900. + H:19,800
REFE BREE JAL JAL 18,600 64% A A: :20,100, F:18,000. H:18,300
KR (BFD =BR HRHE BRfE JAL JAL 20,100 67% JKK: :21,400, H:22,700
(R =EE MBI R| ' JTA JAL 25,900 57% |%:26,100, £:26,700, H:28,600
EEH JAL JTA 24,500 59% |%:25,600, £:25,900, H:28,600
BIN=ES JENES JAL JAL 30,000 62% |7K:30, :30,300, H:31,400
EEH JAL JAL 29,900 62% | JKA:30,100., %:32,600, £:31,600, H:32,500
TeJII=XK%5 JENES JAL JAL 21,400 75% &+ H:22,400
K55 JAL JAL 21,400 75% &+ H:22,400
HIR(EX) =HR LR (%) F JAL JAL 17,600 50% |+ H:14,600
BEHE JAL JAL 17,600 50% | +:17,100. H:14,600
Bk =EE SRR F JAL JAL 19,700 53%
BREEH JAL JAL 19,700 53%
HIEE==]] ZiR% JAL JAL 23,700 49% |+ H:22,300
FR=EEE FIRFE JAL JAL 19,600 55% |1
BEES JAL JAL 22,100 49% | +:23700, H:21,700
R =8I Fll R FE JAL JAL 19,300 59% | +:18,400, H:23,700
S JAL JAL 22,900 51% 316,300, 1:23,700. H:21,400
=R=FR =RE |4 JAL JAL 18,800 62% |+ H:23,100
BRE=8I BEREF [HECHH)| JAL JAL 21,900 76% |&+ H:22,900
KBJISE [ERFECHAHE)| JAL JAL 21,900 76%  |[£%
RiG=n) RIBRE |[ERCIHE)| JAL JAL 21,900 76% &
JBJIFE [ERFECHHE)| JAL JAL 21,900 76% &
REAR=1E)I REARE |ERCEIHE)| JAL JAL 21,900 75% &t
MBJIFE [ERFECHHE)| JAL JAL 21,900 75% &%
GRS EIERE |ERERCHE)| JAL JAL 21,900 75% &
JBJI%E  [ERFECHEH)| JAL JAL 21,900 75% |&+8:22,
RECHH) =X® [ERCHH) | ®BX JAL JAL 20,700 60% | 2:21,100, £:21,000
KEH S JAL JAL 21,600 58% | HKZ:20,700, £:21,900, F:22,300, H:21,100
EAC =D JAL JAL 26,400 54% |%:28,600. 1:26,900. H:28,900
KEH [ JAL JAL 28,700 50% | /:29,000. £:31,200. H:30,200
[ KIR(BFH=XE [KER(FFOH| BEX JAL JAL 17,000 54%
| REHE | EX JAL JAL 17,000 54%
AR (FFD | &k JAL JAL 20,200 50% | H:20,300
KEH [ JAL JAL 19,900 51% | %:20,300. H:21,500




[FLIR (FFm) =RE[LWRF TR E| 18 JAL JAL 26,300 65% |7K:27,300, £:27,300, H:27,700
XEH = JAL JAL 26,300 65%  |7K:27,700. 7}:28,300, +:27,700. H:27,300
[EEXE=/KEH| BEXERX | BZE JAL JAL 11,900 57%
HKBER | EZE JAL JAL 11,900 57%
[EZE=FR@MBH)| FEZER | FKESD JAL JAL 15,600 54%
iR (RE) F| HKBE JAL JAL 15,600 54%
[ERCPE) =RBFE[Ez(PH)¥| BERS JAL JAL 24,000 59% B JK:22,000, &:22,400, % £:26,200, H:27.500
BEYER ERE JAL JAL 24,000 59% | H:23500. /KAK:23,600, £:24,300, H:25,900
[ERCPE) =BAB[ZZ(PH)¥| BERS JAL JAL 25,300 58% | H JK:23,300, A&:23,700, £+ H:27,500
BASH BERS JAL JAL 25,300 58% | H:26,000, £:26,100, F:25,200, H:29,300
KR () =BAS| KRR H| BRES JAL JAL 20,200 57% | 1:21,400
BASH ERE JAL JAL 20,400 56% |£:21,100, £:20,800. H:21,400
BRE=1HEH)| BEESFE | EXXE | JAL RAC 24,400 54% 7K:26,800. H:24,800
hEE(BE) K| BEKES | RAC JAL 25,200 53% 7K:27,600, %£:26,000
EBE=BAE FEES BERS JAL JAL 15,100 59% | H:16,200
BASH BERS JAL JAL 16,200 56%  BskAK&+:15.100
EE =175 FERES BERS JAL JAL 14,200 60% | H:16,200
BEYER ERE JAL JAL 15,300 57% | HAskA£+:14,200. H:15,400
[ LE=1eJI LEE% |HRCPA)| JAL JAL 27,800 65% [H:27,700, 7K:28,900, £:32,500, +:32,400, H:29,900
JBIN%E [ERCEE)| JAL JAL 27,200 66% | A7k:27,300, K:27,500, £:28,700, £:26,500, H:29,400
W=k [ = JAL JAL 17,700 62% |+:18,500, H:17,900
B (IRER) =X K 48 (BF) E RAC JAL 16,000 59% 17K:19,000
BEXEH 5 JAL RAC 16,000 59% 17K:19,000




EBE#EAR 2021/9/30
RERM E—o8 E—o# E—o# E—o8 E—o#
[=455) f:3::R 0] 2021/11/19 “gyate’ | 2021711720 “gyatie” | 2021/11/21 yatie? | 2021/11/22 “gyaley | 2021/11/23  als
RRCRAB) =20 [Ex (PR 4 ER#) | JAL |JITA/RAC 0,300 55% 34,400 48% 7,700 58% 500 63% 4,500 63%
EOE #8 (38%) [ JTA/RAC| _JAL 8,900 57 24,500 3% 6,800 ,600 62% ,800 49%
RRCPAB)=RE |RRWB)FE| MEEH)| JAL |[JITA/RAC 9,100 0 36.100 0% 8,700 400 67% 4,400 67%
X JTA 7,500 38,100 3% 7,300 500 54% 400 55%
RIEE JAL 7.800 24,400 7 ,600 400 65% ,900 5
KR (75 =2 3 | KB () 5| BRR JAL ,900 28,700 1 .700 .900 67% ,600 6.
[ JA JAL 4,900 65% 35,800 0 ,800 39 ,200 66% ,300 7
ESEETES RCHEA) [ JAL JAL ,000 64% .100 4 .200 65% .300 65% 500 59
AL TR | JAL JAL 2,700 68% 500 4 ,900 0% ,900 60% ,300 59%
AR (B#8) =2 Bl | KB (BE78) % | (CPIE) | JAL JAL ,900 64% ,700 1 .700 7% .900 67% ,600 63%
RETR)|  JAL JAL 4,900 65% 5,800 0 ,800 3% ,200 66% 0,300 72%
ESEETES RCHEA) [ JAL JAL ,000 64% .100 4 .200 65% .300 65% 9,500 59%
|ETR)|  JAL JAL 2,700 68% 500 4 ,900 60% ,900 60% ,300 59%
KR () =8N | KBR (FF) F IR CRE) | JAL JAL 4,700 65% ,000 0 ,700 68% ,900 68% 4,600 5%
FH)|[ JAL JAL 4,800 65% 400 4 ,000 66% ,600 65% ,700 4%
KB (B9#8) =R )il )| JAL JAL 4,700 65% ,000 0 ,700 68% .900 68% 4,600 5%
) JAL JAL 4,800 65% 400 4 ,000 66% ,600 65% ,700 4
KR (75 =8k )| JAL JAL ,700 62% ,000 0 .900 64% .200 63% ,600 2
)| JAL JAL 4,700 65% 600 59 .200 65% ,600 65% 400 4
K (Ba78) =8k )| JAL JAL .700 62% ,000 60% .900 64% .200 63% ,600 2
)| JAL JAL 4,700 65% 600 59% .200 65% ,600 65% 400 4
AR (BFH =%k )| JAL JAL 4,000 66¢% .800 4 400 68% 800 67% ,000 58
) JAL JAL ,000 63% .500 2 ,200 67% ,600 66% 500 60%
) JAL JAL 4,000 66% ,800 4 400 68% ,800 67% 9,000 58%
) JAL JAL ,000 63% .500 2 ,200 67% ,600 66% 7,500 60%
KR (R = )| JAL JAL 4,700 60% 400 2 .400 62% 800 63% 7.400 56%
)| JAL JAL 4,800 60% .100 59 ,300 61% ,800 61% 9,000 53%
K (B878) =t )| JAL JAL 24,700 60% 29,400 52% 23,400 62% 22,800 63% 27,400 56%
)| JAL JAL 24,800 60% 25,100 59% 24,300 61% 23,800 61% 29,000 53%
KR (7 = )| JAL JAL 22,100 63% 21,500 64% 21,700 63% 20,800 65% 25,800 56%
| JAL JAL 25,600 57% 24,500 59% 19,800 67% 20,600 65% 21,100 64%
AR (BAd8) = )| JAL JAL 22,100 63% 21,500 64% 21,700 63% 20,800 65% 25,800 56%
)| JAL JAL 25,600 57% 24,500 59% 19,800 67% 20,600 65% 21,100 64%
KR () =85 JAL JAL 16,800 53% 19,900 45% 16,300 55% 16,800 53% 16,300 55%
JAL JAL 16,900 53% 20,000 44% 17,200 52% 16,900 53% 17.200 52%
KR (R =BF8 JAL JAL 21,300 53% 25,500 43% 22,700 50% 21,300 53% 25,500 43%
JAL JAL 21,800 52% 25,000 45% 22,800 49% 21,000 53% 27,400 39%
AR (R =28 JAL _|JTA/RAC| 26,800 55% 32,000 46% 27,600 53% 19,000 68% 19,700 67%
JTA/RAC| JAL 26,000 56% 24,300 59% 26,400 55% 25,600 57% 33,900 43%
AR () ==& JTA _|JTA/RAC| 33,300 44% 33,300 44% 31,600 47% 32,500 45% 32,500 45%
JTA/RAC|__JTA 32,500 45% 31,600 47% 32,900 44% 33,300 44% 33,900 43%
AR (R =FR1E JAL _|JTA/RAC| 25,300 61% 31,300 52% 27,800 57% 18,100 72% 19,800 70%
JTA/RAC| JAL 24,700 62% 23,900 63% 26,200 60% 25,300 61% 33,800 48%
AR (BdE) =R1E JTA _|JTA/RAC| 32,100 51% 33,800 48% 32,600 50% 32,400 50% 32,400 50%
JTA/RAC|__JTA 31,200 52% 31,300 52% 32,700 50% 33,800 48% 33,800 48%
2HE (PH) =%iE5l JAL JAL 21,900 67% 29,700 56% 24,900 63% 20,900 69% 16,400 76%
JAL JAL 18,500 72% 21,800 68% 24,900 63% 24,900 63% 19,900 70%
AHEE (R =Ed JTA _[JTA/RAC| 34,000 47% 35,900 44% 32,600 49% 33,500 48% 33,500 48%
HE | JTA/RAC| _JTA 34,200 47% 33,800 47% 35,900 44% 35,900 44% 35,900 44%
Z2HE (P =FE|2EE P B | JTA [JTA/RAC] 32,800 53% 35,500 50% 33,500 52% 33,200 53% 33,200 53%
=] |48 (B#R) [JTA/RAC|  JTA 19,800 72% 20,000 72% 20,000 72% 20,000 72% 21,100 70%
ALIR (BT ) =/MA[ALIR F TR 2[R (HE) | JAL JAL 23,200 63% 21,600 66% 21,500 66% 21,800 66% 27,300 57%
IMRFE JAL JAL 23,300 63% 27,300 57% 21,900 65% 22,600 64% 24,600 61%
AR T8 =M R ALIR (BT & JAL JAL 31,400 56% 32,300 55% 26,000 64% 27,400 62% 29,700 58%
B ER JAL JAL 27,700 61% 30,300 58% 26,800 62% 26,100 63% 31,300 56%
ALR BT F %) =R 1L [4LIR (T %) % JAL JAL 27,500 62% 26,700 63% 26,400 64% 26,300 64% 32,300 55%
[ JAL JAL 28,900 60% 31,500 57% 26,600 63% 26,800 63% 27,200 62%
AR (BT F) = LB [ 4LIR BT %) % JAL JAL 31,100 58% 31,100 58% 28,900 61% 29,300 60% 33,100 55%
LE&% JAL JAL 31,800 57% 33,100 55% 30,200 59% 28,300 61% 30,100 59%
ARFTR) =LOFH LR FTR & JAL JAL 32,900 58% 29,700 62% 29,200 62% 27,400 65% 34,500 56%
WO R JAL JAL 33,300 57% 34,200 56% 30,600 61% 29,900 62% 29,000 63%
AR TR =HEHBRFTR) % JAL JAL 31,000 56% 31,000 56% 30,000 58% 29,800 58% 31,000 56%
HESR JAL JAL 31,000 56% 31,000 56% 31,000 56% 31,000 56% 31,000 56%
AR BT FR) =B LR F TR % JAL JAL 32,200 55% 32,200 55% 32,200 55% 32,200 55% 32,200 55%
EE%E JAL JAL 32,200 55% 32,200 55% 32,100 55% 31,900 56% 32,200 55%
AR (BT FaR) =Bt [ALIR (T %) 5 JAL JAL 33,000 54% 33,000 54% 30,900 57% 31,800 56% 33,000 54%
BIFE JAL JAL 33,000 54% 33,000 54% 32,700 55% 32,900 54% 33,000 54%
ALIR T F) =28 [ALR F TR % JAL JAL 34,200 54% 34,200 54% 34,200 54% 34,200 54% 34,200 54%
= JAL JAL 34,200 54% 34,200 54% 34,200 54% 34,200 54% 34,200 54%
ALBR (BT F %) =R 1L [ 4LIR (T %) 56 JAL JAL 36,200 52% 36.200 52% 34,400 54% 35,500 52% 36,200 52%
[ITE: JAL JAL 36,200 52% 36,200 52% 36,200 52% 36,200 52% 36,200 52%
ALOR (B F#%) =L Sl [#LIR (B T2 5 JAL JAL 31,600 61% 28,800 64% 28,000 65% 27,900 65% 34,700 57%
EIZ00E: JAL JAL 30,800 62% 34,400 57% 27,100 66% 27,300 66% 33,500 58%
AR GFFR) =KD AR F TR % JAL JAL 33,900 57% 34,700 56% 29,200 63% 29,100 63% 34,700 56%
RO % JAL JAL 32,300 59% 34,700 56% 32,800 58% 30,900 61% 34,700 56%
ALIR (BT F %) = Rl [ 4LIR (T T %) 3¢ JAL JAL 34,400 58% 35,300 57% 28,800 65% 28,800 65% 36,400 56%
A5 JAL JAL 33,500 59% 36,400 56% 29,900 64% 29,500 64% 36,400 56%
ALIR T %) =BER AR F TR % JAL JAL 34,300 57% 35,600 56% 28,800 64% 28,800 64% 35,600 56%
REARS JAL JAL 33,900 58% 35,600 56% 32,800 59% 30,900 61% 35,600 56%
ALIR T F5%) =20 [4LIR T TR) % JAL JAL 31,800 60% 34,200 57% 26,800 67% 26,800 67% 36,400 55%
B JAL JAL 29,100 64% 36,400 55% 27,900 65% 27,500 66% 36,000 55%
AR BT =ERS LR FHTR) % JAL JAL 33,400 60% 36,000 56% 28,800 65% 29,900 64% 40,300 51%
FEES JAL JAL 33,200 60% 38,100 54% 30,700 63% 30,300 63% 37,000 55%
AR TR =78l GBH) | #LIR (B F3%) [ 3 JAL JAL 40,400 52% 39,500 53% 30,900 64% 29,100 66% 36,800 57%
JAL JAL 25,900 70% 31,800 63% 24,100 72% 23,300 73% 28,600 67%
JAL JTA 32,900 62% 34,500 60% 34,700 60% 38,700 55% 41,800 52%
JAL JTA 36,400 60% 30,800 66% 27,600 69% 30,300 66% 36,400 60%
SRR (RER) R MR CRE) | JAL JAL 35,000 59% 34,300 60% 31,200 63% 29,800 65% 40,600 52%
KB (FRFD [ JAL JAL 20,200 77% 25,200 71% 20,800 76% 19,200 78% 30,600 65%
KB (B [ JTA JAL 33,800 61% 41,800 52% 29,600 66% 35,000 59% 37,400 57%
|82 ()| JTA JAL 29,700 66% 28,700 67% 33,300 62% 32,400 63% 30,100 65%
Hl JTA JAL 36,400 60% 41,300 54% 29,400 67% 30,000 67% 36,100 60%
ALIR AT %) =F1E 4R FH TR % CHHA)| JAL JAL 51,400 51% 51,400 51% 50,000 53% 48,300 54% 51,300 52%
ARG FR)=H1E| HIER R CHE) | JAL JAL 51,400 51% 49,700 53% 48,100 55% 48,000 55% 51,400 51%
&M =23 EHEES EE JAL JAL 37,300 58% 39,300 56% 28,300 68% 28,200 68% 36,900 58%
JAL JAL 27,300 67% 36,400 56% 24,400 7% 22,900 72% 23,800 71%
ESFIES JAL JAL 37,600 58% 36,800 59% 29,500 67% 29,500 67% 40,800 54%
JAL JAL 23,300 72% 24,200 71% 22,700 73% 26,800 68% 27,400 67%
B[ =181 EEGES JAL JAL 34,100 61% 36,900 58% 26,800 69% 26,600 69% 34,900 60%
B[ =181 ENIES JAL JAL 36,400 58% 33,900 61% 28,200 68% 28,200 68% 36,900 58%
[T EEEES JAL JAL 35,700 59% 36,400 58% 30,100 65% 30,700 64% 36,400 58%
EIEZS JAL JAL 33,800 61% 36,400 58% 28,500 67% 28,600 67% 36,400 58%




B =I5 JAL JA 35,000 59% 68% 6, 69% 58%
JAL JAL 35,000 59% 67% 7, 67% 58%
EHERET JAL JAL 40,000 49% 65! 66% 2
JAL JAL 4 40,100 42% 69 1
JAL JAL 35,800 54% 64 47
JAL JAL ,400 59% 64 47
BE=H& JAL JAL X ,000 70% 69 X 69 69
JAL JAL 0,500 ,300 49% 57 0, 69 50%
JAL JAL 3,000 ,000 70 69 3, 69 69%
JAL JAL 0,500 ,700 5 57 0, 69 24
JAL JAL ,000 7 7 71 7
JAL JAL ,000 72 7 71 71
JAL JAL ,000 55% , 69 47
1B =E JAL JAL 35,000 0% 0, 6" 0
JAL JAL 35,000 0% 7, 1% 0
JAL JAL } 35,000 44% 8% 47
[HEEA JAL JAL 0.500 7. 55% 63 0
JAL JAL 5,000 0, 0 57% 3
JAL JAL 7. 0, 0 64% 0
JAL JAL 4, 0, 1 50% 0 0
T EDRA JAL JAL 28, 6, 0 66% 66 58
JAL JAL 9,100 7% 7 66% 56%
BE=E=h JTA__|JTA/RAC 7,000 48% 9% 49%
JTA/RAC|_JTA 49% ! 6% 46%
tER=a1E JTA__|JTA/RAC 4 6, 4%
JTA/RAC|_JTA 4 7, 2%
ESCRIEE ] JAL JAL 4 6 69%
JAL JAL 4 6% 63%
ESCRIRE= JAL JAL . 6 7% 69 73%
JAL JAL 6, 6% 8% 6% 73%
ESCRIEE ] JAL JAL 9, 55% 7% 55! 7%
JAL JAL 1, 55% 7% 57 4%
ESCRIETNA JAL JAL 4, 6% 68% 67 2%
JAL JAL 4, 2% 70% 69 6%
B =R JAL JAL 7. 5% 65% 65% 1%
JAL JAL 28, 1% 67% 66% 5%
TR =15 JAL JAL 0. 4% 64% 4 58%
TR =8 JAL JAL 0. . 58% 66% 4 64%
JAL JAL 0, ,400 62% 66% 7 72%
Zmp=HE JAL JAL 4, 58% 57% 55%
JAL JAL 2, , 57 60% , 59%
ESCRIEEATT JAL JAL 38, 4 ] 55% 38, 51%
JAL JAL . 6, 7% 36, 6" 55%
ESCRIEE=EE JAL JAL 55, 4, 3% 3% 1%
JAL JAL 55, 0, 6% 55% 3%
JOIEDEA JAL JAL 2,000 6 1, 69% 68% 6%
JAL JAL 1,300 0% 0, T1% 70% 68%
TBI=rRaE JAL JAL 4,300 7% 5, 68% 66% 5%
JAL JAL 7,000 4% 7, 65% 67% 1
JEJ=FE0 JAL JAL . 5% A 66% ! 65% 4
JAL JAL 1, 1% 68% 5,700 68% 7
BN JAL JAL 2,400 58% 8% 0,000 62% 0
jE] JAL JAL 35,900 4 8% 1,700 59% 58
BN JAL JAL 7,800 4 6% 36,800 55% 4%
BN JAL JAL .000 0 7% 35,200 57% 6%
JBJI=F1E JAL JAL ,700 2 3% 3,000 53% 4%
JAL JAL ,300 6 6% 0, 55% 2%
HIEE =/ JAL JAL . .800 68% 67% X 7%
JAL JAL 4, ,000 66% 65 4, 5%
HIER =ML JAL JAL 0,700 65% 7. 5%
JAL JAL ,400 0 63% 8, 4
SE=1LE5 JAL JAL 0 63% 0, 2
JAL JAL X 7 63% , 0
FlE=HE JAL JAL 35, 4 57% 0. 0 62% |
JAL JAL ; 3, 7 , 58% 3, 6" 57
HIER =431l JAL JAL 4, 0. 0 36. 55 7. 55%
JAL JAL X 0, 49 7, 53 39, 53%
HEE="n1E JAL JAL 4, 7.000 49% 3, 52 3, 55%
JAL JAL 4, ,600 7% 8, 57 9, 6" 2
FLE=/Ma JAL JAL 2, .700 4% 0, 70 0, 0 4
JAL JAL 2, 4 6% 0, 70 69
HE=RW JAL JAL . 3% 7 7
JAL JAL 6. 6% 7 7
HE=HE JAL JAL 2, 6% 9 2 6
JAL JAL 0, X 1 60 , 1 4
#HE=#b JAL JAL 4, 38, 2 57 35,400 6" 2
JAL JAL 4, 7, 4 7 35,100 6% 0
HhE=aE JAL JAL 0 4 1.600 4% 4
JAL JAL 6 6" 0,700 55% 0
AR =/ JAL JAL . 65% 2,000 64% 6
JAL JAL 4 65% 1, 65 58%
EARE=FA L JAL JAL . . 1% 7. 56%
JAL JAL . 2, 5, 3% 59%
EHiE=LEE JAL JAL 28, 0 8, 0 9, 8% 53%
JAL JAL 8 35, 0 7, 63" 58%
EHEE=HE JAL JAL 3% 3 57%
JAL JAL 66% 1 63%
JAL JAL 49 58%
JAL JAL 48% | 68%
EEE=#0 JAL JAL ) . 48% 36. 9% 46
JAL JAL 4, 6.4 59% 26, 9% 0%
JAL JAL 4, 38, 46% 35, 2% 47
JAL JAL ! 35, 24 65% 1
EfE=d M JAL JAL 28, 4 64% 4
JAL JAL 28, 4 65% 68% 4
EHEE=K% JAL JAL 1 71% 7 1
JAL JAL 6 56 55% 6 50
JAL JAL 7 71% T1% 7 71
JAL JAL ; 5 , 48% 58% 6 57
EHEE =R JAL JAL 2, 7 ¥ 72 7 71 7
JAL JAL 7, 6 , 60 5 60 5
JAL JAL 72 ,400 7 7 71 7
JAL JAL 65 ,700 5 6 69 6
RS JAL JAL 7 4 7 70 70 70
JAL JAL 6 , 60 59 60 51
JAL JAL 7 4 7 70 70 70
JAI JAI 6 51 62 65% 60




EHEE=H R WEER [EER(CHE)| JAL JAL 22,400 71 2,400 71 ,000 70% 3,000 70% ,000 70%
RER(FFD [ JAL JAL 28,300 60 0,800 57 .700 55 0.300 57 4,700 51%
ECEEVAC NN JAL 22,400 71 400 7 ,000 70 ,000 70 ,000 70%
BR(FFD [ JAL JAL 28,700 60 .700 5 .500 5! 100 6: ,900 57
HE=ERE WEER [ERERCHE)| JAL JAL 1400 72 400 7 ,000 7 ,000 7 ,000 7
BR(FFD[  JAL JAL .700 66¢ 800 60 .700 6. .700 6: ,600 5
BERBE [ER(CHHE)| JAL JAL 400 7 400 72 ,000 7 000 7 ,000 7
BR(FFD[  JAL JAL ,800 35,600 3 .700 .200 684 28,200
EHEE=H1E AR RCEA) | JAL JAL 49,800 .300 0 .800 800 52% 49,800
aLER (RE) [ JAL JAL 49,800 .800 2 ,800 2 .800 52% 49,800
EH=/MA HHER (HE)| JAL JAL ,000 .900 0 .100 65! .500 66% 4,300 59
INAFE CHE)|  JAL JAL ,000 63 .200 1 .700 400 00 58%
HH=miaE HHER (BE)|[ JAL JAL 200 57 600 6 .400 ,300 200 60%
EfCEER (HE)| JAL JAL ,600 1 ,000 59% .900 .400 9,600 56%
HH=MEWL HHR (BE)| JAL JAL .300 0 .400 2% .000 ,000 28,300 59%
[ENES (HE)| JAL JAL 6,600 1 700 1% .300 .900 28,700 58%
EH=LE HHER (BE)|[ JAL JAL 0.000 7 ,300 6% .500 ,000 0 30,500 6%
LB CRE) [ JAL JAL 9,200 8¢ ,200 58% ,000 8¢ 500 89 30,500 6%
HEF=LOFH HHER (HE)| JAL JAL 0.700 8% .500 1% .200 2% ,600 7 28,900 1%
FE) [ JAL JAL 0,400 9% .100 1% ,800 0% 00 2 9,700 0%
EHR=HE )| JAL JAL 9,600 6% ,600 6% .600 6% 7,000 0 9,600 6%
)| JAL JAL 7,800 2% 00 4% ,900 9% 7,800 2 0,500 2%
)| JAL JAL 9,600 56% 00 6% ,600 6% .500 56 00 6%
)| JAL JAL 8,500 71 .600 4 00 0 00 71 00 4%
EH=1E )| JAL JAL 0.300 70 0.300 0 00 69 00 69 00 69%
)| JAL JAL 0,300 70 0,300 70 .300 69 .300 69 ,300 69%
EHh=mhk )| JAL JAL 0.200 70 0.200 70 0,500 70 0,500 70 0,500 70%
)| JAL JAL 0,200 70 0,200 70 0,500 70 0,500 70 0,500 70%
EH=mA )| JAL JAL 0.300 7 0.300 7 1.300 70 4,100 66 4,100 66%
)| JAL JAL 0,300 7 0,300 7 4,000 66 4,000 66% 4,000 66%
HH=ml )| JAL JAL 0,000 7 0,000 7 0,500 71 0,500 71% 0,500 71%
)| JAL JAL 9,400 68" 9,700 5 6,400 57 9,400 68% 2,700 47%
)| JAL JAL 0,000 72% 0,000 7 0,500 71 0,500 71% 0,500 71%
[ JAL JAL 400 68% .900 5 00 59 400 68% 7,700 55%
BEF=ILAM )| JAL JAL ,800 7 .800 7 00 70 00 70 ,600 70%
)| JAL JAL ,800 7 .800 7 00 70 00 70 ,600 70%
EHR=KS ) JAL JAL .700 7 .700 7 500 70 500 70 500 70%
)| JAL JAL ,000 70 ,800 49 400 52 ,000 70 4,100 47%
) JAL JAL ,700 71 .700 71 500 70 500 70 2,500 70%
)| JAL JAL 1400 67 ,900 47 ,700 54 ,000 70 4,100 47
EHR=RK )| JAL JAL .200 71 .200 7 .000 70 ,000 70 4,000 70
)| JAL JAL 500 68" .200 5 500 57 500 68" ,900 50!
)| JAL JAL ,200 7 ,200 7 ,000 70 ,000 70 4,000 70
)| JAL JAL ,800 7 ,600 5 100 59 .800 72 ,800 53
EHR=EX )| JAL JAL 800 7 .800 7 600 70 ,600 70 ,600 70
)| JAL JAL ,000 68" 100 5 ,700 57% ,000 68" ,900 48
)| JAL JAL ,800 71% .800 7 ,600 70% ,600 70% ,600 70%
)AL JAL 22,100 68% 35,900 48% 29,300 57% 21,600 69% 34,200 50%
EH =T )| JAL JAL 21,800 71% 21,800 71% 22,600 70% 22,600 70% 22,600 70%
V| JAL JAL 23,500 66% 34,100 50% 32,100 53% 23,500 66% 35,900 48%
EEE  [ERCEE)| JAL JAL 21,800 71% 21,800 71% 22,600 70% 22,600 70% 22,600 70%
AR (B[ JAL JAL 22,900 67% 35,900 48% 31,200 55% 22,900 67% 35,900 48%
EHR=-ERE EHER [EE@H)| JAL JAL 23,200 71% 23,200 71% 24,000 70% 24,000 70% 24,000 70%
RO [ JAL JAL 21,900 70% 33,100 54% 28,100 61% 21,400 70% 37,100 49%
ERBE [ERCHE)| JAL JAL 23,200 71% 23,200 71% 24,000 70% 24,000 70% 24,000 70%
)| JAL JAL 21,000 71% 36,300 50% 27,700 62% 21,000 71% 34,900 52%
)| JAL JAL 50,200 51% 51,300 50% 48,500 52% 48,500 52% 48,500 52%
)| JAL JAL 50,000 51% 48,500 52% 48,500 52% 48,500 52% 48,500 52%
| JAL JAL 22,200 62% 22,400 62% 17,800 70% 17,900 70% 19,700 66%
)| JAL JAL 19,400 67% 20,100 66% 19,500 67% 19,100 67% 23,800 59%
)| JAL JAL 27,100 60% 26,600 61% 23,300 66% 23,500 65% 24,100 65%
)| JAL JAL 23,700 65% 23,300 66% 24,200 64% 23,600 65% 27,100 60%
)| JAL JAL 29,500 57% 27,400 60% 24,700 64% 24,500 64% 25,800 63%
| JAL JAL 26,700 61% 27,000 61% 25,700 63% 24,700 64% 28,300 59%
)| JAL JAL 30,500 58% 28,100 62% 26,200 64% 24,600 66% 25,200 66%
)| JAL JAL 27,800 62% 26,000 64% 27,700 62% 25,000 66% 28,500 61%
)| JAL JAL 29,600 55% 29,600 55% 28,500 57% 25,700 61% 27,900 58%
)| JAL JAL 28,100 58% 26,600 60% 29,600 55% 27,000 59% 29,600 55%
V| JAL JAL 20,700 68% 29,600 55% 28,500 56% 20,700 68% 29,600 55%
| JAL JAL 19,300 71% 19,300 71% 20,300 70% 20,300 70% 20,300 70%
)| JAL JAL 19,300 71% 19,300 71% 20,300 70% 20,300 70% 20,300 70%
)| JAL JAL 19,200 71% 19,200 71% 19,500 71% 19,500 71% 19,500 71%
| JAL JAL 19,200 71% 19,200 71% 19,500 71% 19,500 71% 19,500 71%
| JAL JAL 19,300 72% 19,300 72% 20,300 71% 23,100 67% 23,100 67%
| JAL JAL 19,300 72% 19,300 72% 23,000 67% 23,000 67% 23,000 67%
| JAL JAL 19,000 73% 19,000 73% 19,500 72% 19,500 72% 19,500 72%
)| JAL JAL 19,000 73% 19,000 73% 19,500 72% 19,500 72% 19,500 72%
V| JAL JAL 22,300 64% 30,600 51% 29,000 54% 22,300 64% 31,300 50%
)| JAL JAL 19,800 74% 19,800 74% 20,600 73% 20,600 73% 20,600 73%
)| JAL JAL 19,800 74% 19,800 74% 20,600 73% 20,600 73% 20,600 73%
)| JAL JAL 19,700 73% 19,700 73% 20,500 72% 20,500 72% 20,500 72%
)| JAL JAL 19,700 73% 19,700 73% 20,500 72% 20,500 72% 20,500 72%
V| JAL JAL 24,300 63% 34,100 48% 32,200 51% 21,900 66% 34,100 48%
| JAL JAL 21,200 73% 21,200 73% 22,000 72% 22,000 72% 22,000 72%
)| JAL JAL 21,200 73% 21,200 73% 22,000 72% 22,000 72% 22,000 72%
V| JAL JAL 22,700 69% 33,500 54% 32,100 56% 22,700 69% 35,400 51%
| JAL JAL 19,800 74% 19,800 74% 20,600 73% 20,600 73% 20,600 73%
| JAL JAL 19,800 74% 19,800 74% 20,600 73% 20,600 73% 20,600 73%
V| JAL JAL 24,900 64% 33,400 52% 31,800 55% 24,900 64% 34,100 51%
SR=25 ZR%E  [ERCEE)|[ JAL JAL 19,800 74% 19,800 74% 22,600 70% 22,600 70% 22,600 70%
| JAL JAL 25,800 63% 33,300 52% 34,700 50% 21,400 69% 35,900 49%
)| JAL JAL 19,800 74% 19,800 74% 22,600 70% 22,600 70% 22,600 70%
V| JAL JAL 21,400 69% 35,800 49% 34,200 51% 21,400 69% 35,900 49%
| JAL JAL 21,200 73% 21,200 73% 22,000 72% 22,000 72% 22,000 72%
V| JAL JAL 23,800 68% 32,400 56% 30,700 58% 23,800 68% 36,500 51%
| JAL JAL 21,200 73% 21,200 73% 22,000 72% 22,000 72% 22,000 72%
V| JAL JAL 23,900 68% 36,100 51% 30,700 58% 23,800 68% 35,600 52%
| JAL JAL 50,200 50% 51,300 49% 48,500 52% 48,500 52% 48,500 52%
TE)|[ JAL JAL 50,000 51% 45,500 55% 48,300 52% 48,500 52% 48,500 52%
FE=/ R BT CRE) [ JAL JAL 23,600 56% 20,800 61% 17.100 68% 17,400 67% 20,800 61%
IS CRE)| JAL JAL 22,600 58% 20,900 61% 19,100 64% 22,000 59% 21,800 59%
ME=mitaE FUEAF CRE) [ JAL JAL 26,300 57% 26,300 57% 23,400 62% 21,800 64% 25,600 58%
BiLaER CHHA)| JAL JAL 26,300 57% 25,400 58% 25,800 58% 26,300 57% 26,300 57%
FE =R BT CRE) [ JAL JAL 26,300 58% 24,300 61% 22,700 64% 22,700 64% 25,300 59%
[EIE:S CRHA)| JAL JAL 26,300 58% 24,100 61% 23,800 62% 26,300 58% 25,500 59%
HE=L5 BT CRE) [ JAL JAL 28,000 56% 28,000 56% 25,200 60% 25,700 59% 28,000 56%
LE% CHE)| JAL JAL 28,000 56% 27,800 56% 26,500 58% 28,000 56% 28,000 56%




B = L0 FH JAL JAL 0,500 55% ,500 1% 5,500 62% 3,700 65% 300 61%
JAL JAL 0,500 55% 00 0% 7,300 60% 7,500 59% 00 61%
ME=HE JAL JAL 6,300 57% 00 7% 00 57 5.900 58% 00 57%
JAL JAL 0,600 65 00 53% ,000 1 0,600 65 00 58%
JAL JAL 6.300 57 00 57% ,300 7 6,300 57 00 57%
JAL JAL 1,300 4 ,300 6% ,800 2 1,300 4 800 3%
HNE=f5 JAL JAL 0,200 7 0,200 7 0,700 7 0.700 7 0,700 7
JAL JAL 0,200 7 0,200 7 0,700 7 0,700 7 0,700 7
ME=5Hn JAL JAL 0,200 7 0,200 7 0,700 7 0.700 7 0,700 7
JAL JAL 0,200 7 0,200 7 0,700 7 0,700 7 0,700 7
ME=5H JAL JAL 0,300 68¢ 0,300 68 0,800 68 0.800 68 0.800 68
JAL JAL 0,300 68% 0,300 68% 0,800 68% 0,800 68% 0,800 68%
FRE=H0 JAL JAL 0,400 68% 0,400 68% 0,900 68% 0,900 68% 0,900 68%
JAL JAL 1,000 63% 4,100 58% 3,500 59% 1,000 63% 4,900 56%
JAL JAL 0,400 68% 0,400 68% 0,900 68% 0,900 68% 0,900 68%
JAL JAL 1,000 3% 4,500 57% 00 61% 1,000 63% 4,700 57%
E=IAMN JAL JAL 0,500 6% 7,900 0% 00 65! 4,300 65% 0,500 6%
JAL JAL 0,500 6% 7,000 1% 00 7,300 61% 0,500 6%
ME=X% JAL JAL 0,500 6% 0,500 6% 00 5.500 63% 0.500 6%
JAL JAL 0,600 65% 7,200 4% 00 0,600 65% 0,500 49%
JAL JAL 0,400 56% 0,500 6% 6,900 ,900 58% 0,500 56%
JAL JAL 3,000 61% 8,500 2% 7,000 55% ,800 63% 4,900 42%
B =R JAL JAL 2,200 56% 9,400 59% 5,100 65% .100 65% 2,200 56%
JAL JAL 24,100 64% 32,200 52% 27,600 59% 24,100 64% 30,900 54%
JAL JAL 2,200 56% 2,200 56% 7,300 300 60% 32,200 6%
JAL JAL 1,400 68% 7,400 59% ,600 ,400 68% 28,800 7
HE=fEX JAL JAL 2,200 4% 000 59% 00 .100 2,200 4
JAL JAL 4,800 2% 00 50% 00 8 ,800 0,600
JAL JAL 1,100 6% 00 55% 00 2% ,900 2,200 4
JAL JAL 4,500 62 ,300 58% 00 9% ,600 39 2,200 0
ME=5k JAL JAL 00 57 7.800 0% 00 7% 100 7 0.200 7
JAL JAL 00 61 ,200 0% 00 55 ,100 1 00 0
JAL JAL 00 58" ,800 7% 00 4 ,300 1 00 4
JAL JAL 100 69% ,700 4% ,700 7 0,100 69 00 2
HE=ERE JAL JAL 2,200 6% 400 59% 5,900 4 .900 64 800 6
JAL JAL 4,700 ,400 1 5,200 3 ,200 65% 100 6%
JAL JAL 400 ,400 4 0,300 8 ,600 55 400 4
JAL JAL 700 ,400 1 0,200 6% ,700 1 00 1
ME=RE JAL JAL 0,200 8¢ 00 46 00 0 .300 0 48,300 0
JAL JAL 0,000 8% 00 3% 00 00 0 48,200 0
EE=HE JAL JAL 9,100 3 00 45% 00 00 3 ,900 45%
JAL JAL 9,100 3 0,900 0% 00 ,100 3 0,900 0%
fEE=Hl JAL JAL 0,000 0 0.900 48% 0,000 0 0,000 0 0.000 0%
JAL JAL 0,000 0 0,000 50% 0,000 0 0,000 0 0,900 48%
EE=KS JAL JAL 1,700 900 45% 700 700 1,700 49%
JAL JAL 1,700 700 49% 700 700 1,700 49%
EE=RiE JAL JAL 4,100 00 51% 00 00 4,100 51%
JAL JAL 4,100 00 51% ,100 00 4,100 51%
JAL JAL 00 00 49% ,900 00 00 49%
JAL JAL 00 00 51% ,900 00 00 51%
JAL JAL 00 00 49% ,900 00 00 49%
JAL JAL 00 8 00 6% ,400 400 8 00 6%
JAL JAL 00 1% 00 1% ,900 00 1% 00 1%
JAL JAL 00 8% ,900 6% ,200 ,300 8% 00 6%
TEE=ERE JAL JAL 4,100 2% .100 2 .700 .100 2% 4,100 2%
JAL JAL 4,100 2% 00 2 ,100 ,100 2% 4,100 2%
IS JAL JAL 0,200 4% 400 4 800 0 ,000 9% 9,500 6%
JAL JAL 00 55 400 6 ,700 8 800 55 1,400 1%
Wiz =R JAL JAL 00 00 53% .100 7% ,900 7 4,100 55%
JAL JAL 4,600 00 55% 100 55% ,900 3 5,500 52%
=55 JAL JAL 00 00 49% 00 4% ,500 1 7700 49%
JAL JAL 7,400 00 54% 00 2% 00 52 600 51%
\ILfz =L O JAL JAL 9,100 0 00 54% 00 6% 00 57 400 55%
JAL JAL 9,200 0 00 55% 00 2% 00 6 700 2%
I =HE JAL JAL 7,900 6" 00 46% .900 6% 00 8% 00 46%
JAL JAL 4,500 8% 7,900 2% 7,900 2% 00 8% 7.900 2%
JAL JAL 7,900 6% 7,800 46% 7,900 6% ,900 6% 7.900 46%
JAL JAL 5,800 6% 7,900 2% 5,900 6% 5,800 6% 7,900 2%
I =%5 JAL JAL 6,500 0% 6,500 0% 6,500 0% 6,500 0% 6,500 0%
JAL JAL 00 00 50% 00 00 0 26,500 0
=5 JAL JAL 00 00 52% 00 00 2 25,500 2
JAL JAL 00 00 52% 00 00 2 25,500 2
[ITEZ T JAL JAL 00 00 48% .100 00 0 28,000 0
JAL JAL 800 ,300 6,300 ,800 4 26,300 3
JAL JAL 300 ,400 7,200 ,800 8 28,800 48
JAL JAL 4,800 6" ,300 00 00 6% 00 53%
=K% JAL JAL 9,200 1 .600 0 00 6! 00 7% 00 50%
JAL JAL 5,400 7 00 49 00 400 7% 00 49%
JAL JAL 28,600 2 00 52% 00 00 4% 00 50%
JAL JAL 27,100 4 ,600 49% 00 00 55% 00 49%
Wi =K& JAL JAL 28,800 55% 0,100 00 8 00 9% 00 52%
JAL JAL 9,200 6% 2,200 ,200 1% ,200 6% 200 51%
JAL JAL 2,200 9% 0,500 ,000 6% ,000 6% 200 49%
JAL JAL 7,400 8% 2,200 0,000 4% ,400 8% 00
Wi =gx JAL JAL 9,000 9,600 6.500 6% 6.300 7% 28,700
JAL JAL 28,900 0,500 0,500 52% 8,900 4% 0,500
JAL JAL 9,400 8,100 4 7,600 55 7,600 55% 0,500 0
JAL JAL 9,500 39 0,500 2 0,100 52 8,400 55 0,500 52
WL =2E JAL JAL 7,300 55% 8,300 4 4,700 59 4,500 60 7,500 55%
JAL JAL 0,400 52% 0,500 2 0,500 52 0,400 52 0,500 2
JAL JAL 7,300 55% 6,900 6 6,200 57 ,200 57 28,300 4
JAL JAL 28,800 55% 0,500 0,500 52 ,800 55% 0,500 2
W =ERS JAL JAL 00 3% 0.100 00 55 100 6% 00 4
JAL JAL 100 7% ,200 ,200 ,600 7 200 2
JAL JAL 600 8% ,700 59 500 500 200 1
JAL JAL 500 ,200 52% ,300 ,400 100 55%
WL =51 JAL JAL 0,200 .300 41% ,200 ,300 48,300 44%
JAL JAL 0,000 ,000 48% ,100 ,200 48,200 44%
leE=HE JAL JAL 3,600 .800 51% .500 9 600 ,300 6%
JAL JAL 2,800 0 ,300 54% ,700 0 ,800 0 00 4%
flhE =#zl JAL JAL 0,800 2 .200 58% ,200 8¢ 800 2 00 58%
JAL JAL 00 0 ,900 54% ,200 8% ,600 0 4,900 54%
e =xX% JAL JAL 00 0 ,600 48% .700 600 0 9,600 48%
JAL JAL 00 9 ,900 49% ,900 ,100 9,600 48%
e =Rk JAL JAL 400 4 ,200 50% .700 .400 0.700 52%
JAL JAL 800 0 ,600 56% ,300 ,300 2,200 50%




s =fex A JAL JAL ,300 9 0,500 51% .500 7 .300 9 28,900 53%
FH| JAL JAL 600 9 0,500 51% ,500 7 ,200 1 0,500 51%
e =2k A JAL JAL 4,900 0 ,200 48% .900 .900 0 0.900 50%
FH| JAL JAL 4,800 0 ,200 48% ,400 ,700 0 200 48%
E=ERS 5 JAL JAL .500 1 ,200 1 ,900 ,000 2 ,900 55%
FH| JAL JAL 300 9 ,100 1 ,800 ,100 60 200 1
FR=HE A JAL JAL 3,800 7 .800 7 0,100 .800 57 .800 7
FH| JAL JAL 0,800 ,500 7 0,300 0,800 800 7
FH| JAL JAL 0,400 ,200 58 8,100 66 0,400 200 58
FH|_ JAL JAL ;700 ,600 59% 0,100 62 ,700 4,700 53%
FH| JAL JAL 800 0 ,900 49% ,500 57 00 0 900 49%
FH| JAL JAL ,100 0 4,800 55% ,800 57 00 1 28,000 49%
FH| JAL JAL 800 7 7,400 6% ,500 66 00 7 7,400 6%
FH| JAL JAL 600 2 4,500 1% ,900 00 65 0,500
FH| JAL JAL 4,500 9 7,400 2% ,600 00 9 7,900
FH| JAL JAL 4,000 0 5,600 7% ,400 ,100 1 200
FH| JAL JAL 600 1 7,100 55% ,800 0 500 7 600
| JAL JAL 800 65 6,800 55% ,300 6 00 65 600
FH| JAL JAL 100 0,000 53% ,500 65 00 00
FH| JAL JAL 300 00 58% ,400 00 0,500
ME=FE L P JAL JAL ,200 00 64% .500 00 00
JAL JAL 400 00 63% ,400 00 00
INE=IRE JAL JAL 4,900 00 58% ,000 00 00 58
JAL JAL 4,600 00 60% ,500 00 00 58%
MA=1LOFE JAL JAL 4,600 00 65% .800 00 65% 00 63%
JAL JAL 700 60 00 62% ,400 00 65% 00 65%
INE=HE JAL JAL ,900 55% 00 55% 500 6! 00 58% 00 56%
JAL JAL 900 55 00 55% .900 55 00 55% 00 55%
IMA=TER JAL JAL ,000 7 000 6% ,000 7 000 7% 000 57%
JAL JAL 000 7 ,000 7% ,000 7 ,100 6% ,100 56%
IMA=B JAL JAL 4,400 9 .200 7% 400 ,400 9 4,400 59%
JAL JAL 4,400 9 ,400 59% ,400 ,000 7 ,000 57
INA=TE JAL JAL ,800 6" .300 800 800 800 1
JAL JAL 800 6% ,200 8,300 00 800 1
ME=FA0 JAL JAL ,300 7 .400 7,400 6" 00 28,600 4
JAL JAL 300 7 ,800 7,900 55% 00 39 28,800 53
ME=FEAM JAL JAL ,300 1 00 4 .100 66% 00 65% 28,600 57%
JAL JAL 400 2 00 63 ,300 7% 00 66% 28,100 58%
INR=K5 JAL JAL 28,600 6" 400 55% ,300 3% 700 62% 400 55%
JAL JAL 26,400 0 000 6% ,700 2% 100 62% 400 55%
M= JAL JAL 27,500 0 700 7% .400 66% 300 65! .100 55%
JAL JAL 28,100 0 700 0% ,300 65% 700 ,100 55%
INR=FER JAL JAL 25,600 62 0.400 55% .400 65! 00 0.300 55%
JAL JAL 28,500 57 300 6% ,900 64 00 0,400 55%
IMNR=F IR JAL JAL 00 65% 600 7% .000 69 00 5,000 63%
JAL JAL 700 65 100 6% ,300 67 ,700 66" 0,400 55%
IMA=ERE JAL JAL ,300 0.400 6% .600 66¢ .300 65% .200 58%
JAL JAL 900 7,200 1% ,300 65% ,700 4% 300 55%
IMA=FEH JTA _[JTA/RAC .200 36.600 45% .200 4% 100 6% .100 56%
JTA/RAC|_JTA 200 2,200 2% 2,200 2% .100 6% 200 44%
IMNA=F1E JAL JAL 0,200 6" 1,300 45% 8,200 8% ,300 8% 48,300 48%
JTA__|JTA/RAC 1,500 7% 7,700 48% 7,700 8% ,000 0% 29,000 60%
JAL JAL 0,000 6% ,200 1% ,100 0% ,200 8% 48,200 48%
JTA/RAC|__JTA 1,700 7% ,800 6% ,900 6% ,800 0 ,000 49%
L =2 JTA _[JTA/RAC 2,800 5% .900 4 ,000 6% .900 1 28,900
JTA/RAC|__JTA 28,900 1% 00 ,000 6% 00 7 34,900 4
EL=%1E JTA__|JTA/RAC 5,400 6% 38,300 4 ,000 ,300 1 32,300
JTA/RAC|__JTA 1,500 1,600 2 36,400 35,400 6! 38,300 4
EHI=E JAL JAL 4,400 7.100 45% .400 .300 26.200 4
JAL JAL 4,400 6,200 47 ,200 ,300 25,600 48
HRERE) =FF [FR@EBR[EZEBR) | JAL JAL 2,700 0 0,000 500 0 .200 40,900 0
RER(FFD [ JAL JAL 9,100 6 9,700 .900 68¢ .800 38,900
AR [EER@EH)| JAL JAL 40,200 50 39,100 400 62% ,600 67 1,600
RIR(EE|  JAL JAL .100 7 7.800 3 .900 68% 100 76! 9,900
(FRER) F| MR CRIA) [ JAL JAL ,100 6 ,200 7% ,700 3% ,500 67 7,900 3
R%E |[HR(EA)[ JAL JAL ,600 6 600 59% ,800 7 ,900 69 6,400 7
hHE(GIRE) R RECHE) | JAL JAL ,300 55 ,900 64% 0,000 0 ,800 59 7,200 0
KER(FFD | JAL JAL ,900 71 .500 68% 3,200 0 .600 72 7.200 2
#E%E [ERERCEH)| JAL JAL .200 50 .200 50 7.300 63 .300 67 28,600 2
KER(FFD | JAL JAL ,900 69 7.200 52 3,000 70 .900 7 5,800 6
R (RER) =TEE [RGB | ARUER | JAL JAL 600 3 3,800 57 7.200 66¢ ,300 6: 7,900 2
faE JT) JAL .700 69 7,900 4 4,100 59% ,900 5 7,900 4
EER [ KREED| JAL JAL ,600 0% 7.900 2 7.200 66% 9,600 63 1,500 0
18 JAL JTA ,900 4% 7,900 4 .100 59 35,600 57 7,900 4
B (BRER) = LRy | GIRER) SR CRE) | JAL JAL 7,400 8% .700 1 .900 59 ,000 62 .200 49
ABR(FFH | JAL JAL 3,600 69 ,800 1 .500 69 .300 69 4,100 55%
\nf%E [EE(CGEE)[ JAL JAL 0,500 4 ,800 47 .700 6! ,400 63 500 1
KB (FFD | JAL JAL 5,100 7 36.900 1 .800 7% 100 69 500 4
R RE) =LE [REBE__EE JT, JAL 0,800 2 37.100 4 ,300 0% 600 5. 39,200 2
PN JAL JAL ,000 69 25,700 5% .100 69% ,900 7 35,300 2
JAL JTA ,000 9 36,400 55% 35,700 56% ,800 6 39,000 2
JAL JAL 4,700 7 36,100 1 3,100 69 00 69 800 5%
R (AE) =/ [ JAL JAL 28,800 0 .900 7 7.000 2 00 39 ,000 0%
JAL JAL ,100 1 ,900 3 7,200 2 00 7% 500 3%
PR (IR == JTA JAL 00 6 .900 6 .900 6¢ 00 6% ,900 6%
JAL JTA 00 6% ,600 55% ,900 6% 00 6% 900 6%
B (FRER) =Hal JTA JAL 4,100 6% .100 6% .100 6% 00 6% 4,100 6%
JAL JTA 4,100 6% ,600 2% ,100 6% 00 6% 4,100 6%
TR (PE) =BEZAE | BER AR %[ _ER JAL JAL 00 3% 38,700 45% ,800 55% 00 4% 1,900 55%
KER(FFD | JAL JAL 0,100 55% ,900 1% .300 56% 100 4% 9,300 56%
EERER [ BR JAL JAL 5,000 51% ,900 2% .800 55% 800 55% 39,600 44%
KER(FFD [ JAL JAL 0,300 55% .800 6% ,700 6% 000 4% 3,900 49%
HRCHBA) =ERB|RR (B FE[_ER JAL JAL 1,000 57% ,000 49% .800 9% 00 0% 1,700 6%
BEXE [ JAL JAL 28,800 55% 8,800 55% ,900 6% 00 6% 7,900 6%
ERER R JAL JAL 0,900 7% 4,100 53% 0,700 7% 00 9% 38,900 46%
EEXE | AL JAL 7,900 6% 7.900 56% 8,800 55% 00 55% 28,300 6%
HRCHA) =B8R (@B E|_ER JAL JAL 00 6% 39,000 48% 2,600 57% 00 58% 32,700 6%
B | JAL JAL 00 4% 31,400 4% 0,500 55 500 55% 30,500 55%
JAL JAL 00 55% 32,700 6% 00 7 200 8% 39,900 47%
JAL JAL 00 8% 38,500 1% 00 9 000 9 32,700 58%
JAL JAL 00 7% ,700 58% 00 9 00 0 39,900 49%
JAL JAL 4,200 7% ,600 24 00 8 00 9 34,100 57%
JAL JAL 00 8% ,100 7 ,100 9% 00 0 45,500 43%
KRB =EZRB[AREFM | ER JAL JAL 00 4% 0,200 47 .600 55% .200 4 28,800 49%
BEXER [ ER JAL JAL 28.400 0% 8,800 49 .900 51% .700 3 32,100 44%




Rz (B =ERB| KR (B %] _ER JAL JAL .400 7 9,000 0% .800 6% .400 7% ,800 4%
EEXE | AL JAL .500 1 7.800 47 .500 .900 2% 500 1%
ERER EE; JAL JAL ,300 7 9,000 0 .700 .500 8% 1400 46%
XE | JAL JAL .500 1 5,500 1 .500 .900 2% .200 44%
R () =@ B[ KR (P E| ER JAL JAL .400 7 0,500 0 .800 6 .900 8% 800 55%
Rz (B =@z8| #BzB% BER JAL JAL ,900 69 9,600 2 .200 4% .100 7% 2,400 47
EEXE | AL JAL 28,100 0% 8,100 0 .100 0% 500 0% 1.800 44
PG T JAL JAL 6,700 8% 0,500 2 .800 8% 700 8% 7.800 7
Sk EERE | EER JAL JAL 7,200 8% 9,500 4 ,200 6% .400 9% 2,400 0
Rz (B | _ER JAL JAL 7,200 9 36.100 45% ,200 7% .200 9% 28,600 7
EEXE | AL JAL .100 0 .400 46% .100 0% .500 8% 32,100 0
5% BER JAL JAL .200 0 .000 3% .200 6% .200 0 38,000 42
BR=EXXE [EIRES BER JAL JAL .700 9 .000 6% .000 6% .700 9 ,400
EESNCEIN T JAL JAL ,600 55 ,000 4% ,000 4% .700 7 ,000 4
BEEXE | AL JAL ,600 1 ,000 43% .100 6% 600 1 .100 6
BH=ER85 ERBE [ BEAE | JAL JAL ,600 1 .100 6% .100 6% 600 1 .000 43%
BR=@z5 [EES BER JAL JAL .000 0 .200 55% .200 55% ,000 0 ,200 55%
EEXE | AL JAL .200 9 ,600 43% .700 54% .200 9 .700 54%
BB R JAL JAL ,000 0 .200 55% .200 55% .000 0 .200 55%
EEXE | AL JAL .200 9 .700 54% .700 4% .200 9 ,600 43%
BE =5 Eim%e FEIR JAL JAL ,900 65% .900 61% .900 1% .900 65% ,600 55%
BEAE [ JAL JAL 28,000 3% ,800 48% ,800 8% ,000 53% 600 43%
RR(CPH) =5RERR(CHHE) | Hi\E JAL RAC 1,700 5 .100 2 ,700 38% 800 38% 49,800 38%
SMEFE |EEGRH)| RAC JAL 3,000 9 ,300 0 .700 8% .200 1% 39,300 1%
AiE RAC JAL 0,000 7 .200 43 100 2% ,200 0% 48,200 40%
AR (B =5ME| SHMEFE [HEEGREH) | RAC JAL 38,600 7 38,900 46 38,900 6% 38,900 6% 38,900 46%
SMEFR | EEGREH)| RAC JTA 38,600 7 38,900 46% 38,900 6% 38,900 6% 38,900 46%
AiE RAC JTA 34,300 9 34,300 49% 34,500 9% 37,100 5% 37,100 45%
SMEFE |EERE) | RAC JTA 39,900 8¢ 39,900 48% 39,900 8% 39,900 8% 39,900 48%
1B =5 3E P8 (RF) | RAC JTA ,600 .700 1% 00 1% .400 8% 4,000 47
R (RE) =5 ME RIE_ [JTA/RAC| RAC 4,200 .500 0% 00 0% .300 0 ,300 0
= RAC__|JTA/RAC 4,600 ,700 2% 00 1% ,900 1 4,900
RR(CPA)=AKXS P8R E) | JAL [JTA/RAC 7,700 ,500 45% ,600 55% ,500 2 2,500
sAsTaRac]  JAL 6,200 6" ,300 0% ,700 8% ,400 0 900 4
AR (B =AKE JAL _[JTA/RAC 0.900 0 .200 5% 0.200 0.100 1 0.200 4
sAsTaRac]  JAL 9,400 3 ,400 43% 1,400 2,900 36" 3,900 4
AR (B8 =AKE JTA _[JTA/RAC 0.900 0 .200 5% 0.200 0.100 41% 0.200 41
sAstarac]  JTA 400 400 43% 1,400 2,900 36% 900 4
BHE (PE) =AXE JTA__|JTA/RAC 600 35,900 6% 1,200 5% 1,100 45% 200 45%
sastarac]  JTA 800 2,300 43% 35,900 36% | 35900 36% 900 6%
BRE=AXE E: JTA _[JTA/RAC .200 7.400 7% 6.300 40% 4,900 3% 4,900 43%
|48 (FRF) [vavurarac]  JTA 4,800 .800 43% 7.000 38% 7.400 7 7.400 7%
R CRE) =Rk AR (| JAL JAL 1,400 8¢ .900 44% 0,000 1% 0.300 0 0,000 1%
HE AL JAL 28,800 .200 49% 5,200 6% 4,000 5,600 46%
KER (FFD | JAL JAL 0,100 ,700 2% 0,100 1% 0,000 28,400 45%
HE JAL JAL 4,100 .700 0% 5,400 6% 3,800 ,100 47%
B () =R ABR ()| JAL JAL 1400 0 .100 7% 0,000 2% 1.100 ,900 3%
| KR ()] JAL JAL ,100 69 ,000 7% ,000 75% 0,100 72 4,800 6%
BE =t FFR) RCEA) | JAL JAL ,900 9 0,800 49% .900 63% 000 65! ,300 6%
AR BT R | R (E) | JAL JAL 40,100 0 6,900 4 ,000 64% ,000 40,800 49%
HEHR=E EHE  [ARETH|[ JAL JAL ,900 7 500 4 ,900 55% ,500 ,900 67%
ZHARE [ARETR | JAL JAL ,900 7 ,500 4 ,900 55 ,500 900 67%
B =255 [4LIE HFR) | JAL JAL ,400 69 ,500 ,500 7 ,500 ,400 69%
[FLRGTFR | JAL JAL 300 7 ,500 7 ,500 7 ,500 7 300 7%
BR=%iE5 FHE) [ JAL JAL 4,100 8¢ 38,500 52 ,700 9 .200 9 4,800 7%
(BE)| JAL JAL ,600 8% 34,500 57 ,000 8 500 7 7,300 4%
=% CRE) [ JAL JAL ,800 8% 38,000 53 .600 8% .100 89 5,700 6%
(BE)|[ JAL JAL ,200 0 500 57 .400 ,700 7 8,400
K =% 5 (HE)| JAL JAL 400 .400 7 .400 400 4,400
(BE)|[ JAL JAL 400 7 400 7 400 7 ,400 7 4,400 7
R =255 CRE) [ JAL JAL ,900 7 .900 74 .000 7 ,000 7 ,000 7
(BE)|[ JAL JAL ,900 7 ,900 74 ,000 7 ,000 7 000 7
A= CRE) [ JAL JAL ,900 7 .900 7 .000 7 ,000 7 ,000 7
(BE)| JAL JAL ,900 7 ,900 7 ,000 7. ,000 7 000 7
B =255 CRE) [ JAL JAL ,900 7 .900 7 .000 7 ,000 7 ,000 7
(BE)| JAL JAL ,900 7 .900 7 ,000 7. ,000 7 000 7
ERB=%5 CRE) [ JAL JAL ,900 7 .900 74 .000 7 ,000 7 ,000 7
i (RE)[ JAL JAL ,900 7 ,900 74 ,000 7 ,000 7 ,000 7
ARFTR) —BEAB[ALEFTH R (BE)|[ JAL JAL ,700 35,300 1 0,700 66 ,900 6 ,100 4
BEEXER CHE)|[  JAL JAL ,600 700 4 2,800 64% ,800 65% ,000 4
EH=BXAE |_#FEX (BE)| JAL JAL 500 .500 0 0.100 65% .800 66% ,900
BEEAER (RE) [ JAL JAL ,200 ,000 2 ,000 61% ,900 61% 300 0
HME=EXXE G (BE)|[ JAL JAL ,300 69 500 0 .100 65% ,300 66% 0,300 3
EEREHR CRE) [ JAL JAL ,800 8% ,900 3 .500 61% .500 59% 2,100 0
IMA=FEEXE INASE (BE)| JAL JAL .700 4% .900 3 .400 66% .500 66% 6,900 5%
BEEXER CRE) [ JAL JAL 7,700 4% .700 6 .600 65% .100 64% 28,500 63%
ER=8I% ST (HE)| JAL JAL .200 55% .800 2% .500 6% 35,400 55% 4,800 55%
FEE CRE)| JAL JAL ,800 8% 7,000 53% ,200 7 .800 7% .200 7%
EE=8I% [ (HE)| JAL JAL .200 9 3.400 57 .600 0 ,200 9% ,700 4%
SR T CRE)| JAL JAL 400 0 7.000 5. .100 ,000 6% 4,300 6%
R =8k AHH CRE)| JAL JAL 400 400 74 .400 .400 ,400
FEE CRE)| JAL JAL 400 7 400 74 .400 7 .400 7. ,400 7
RIG=HIE RIGF CRE)| JAL JAL ,900 7 ,900 74 .900 7 .900 7 ,900 7
FEE CRE)| JAL JAL ,900 7 ,900 74 .900 7 .900 7 ,900 7
A=K AR CRE)| JAL JAL ,900 7 ,900 7 .900 7 .900 7. ,900 7
FlEE CRE)| JAL JAL ,900 7 ,900 7 .900 7 .900 7. ,900 7
B =4I B 5 CRE)| JAL JAL ,900 7 ,900 7 .900 7 .900 7. ,900 7
FEES CRE)| JAL JAL ,900 7 ,900 7 .900 7 .900 7. ,900 7
BERE=HI% ERB% (HE)| JAL JAL ,900 7 .900 74 .900 7 ,900 7 ,900 7
ElEE3 CRE) [ JAL JAL ,900 7 ,900 74 .900 7 .900 7 ,900 7
EB=%IK LB (BE)| JAL JAL 28,900 300 2 .500 664 ,100 500 60
LS CRE) [ JAL JAL 500 ,700 2 .500 4 .700 .200 59
BR=FK Bins (HE)| JAL JAL .200 .100 6 .500 9 100 .200 52%
HILFE CRE)[  JAL JAL ,100 ,900 55% .300 0 ,800 5,300 55%
EE=FIK [ (BE)|[ JAL JAL .900 9 000 57% 300 89 ,000 38,100 5
LS CRE) [ JAL JAL ,300 8¢ .900 55% ,000 .900 89 ,400 5
KA =% AS%E (HE)| JAL JAL ,000 4% ,000 74% ,000 ,000 ,000 7
LS (HE)| JAL JAL ,000 74% ,000 74% ,000 7 ,000 7 ,000 7
RB=%IK RIGHE (HE)| JAL JAL 500 75% 500 75% .500 7 .500 7 500 7
LS (HE)| JAL JAL 500 75 500 75% .500 7 .500 7 .500 7
BA=FIK JEES (HE)| JAL JAL .500 7 .500 74 .500 7 .500 7 500 7
LS CRE) [ JAL JAL .500 7 .500 74 .500 7 .500 7 500 7
BR=%k BIFE (HE)| JAL JAL .500 7 .500 74 .500 7 .500 7 500 7
LS CRE) [ JAL JAL .500 7 .500 74 .500 7 .500 7 500 7
ERB=%EK ERB%E (BE)|[ JAL JAL 500 75% 500 75% .500 7 500 7 500 7
HILSE CRED[  JAL JAL .500 75% 500 75% .500 7 .500 7 500 7




JEIES=EN JBIIF JAL JAL . 0 7 59% 8% 57%
Bing JAL JAL . 9 1 60% 58%
EHiE=a1 E JAL JAL . 4 2 53% 47%
Bing JAL JAL . 39 44 55% 49%
HEE=1E5 E JAL JAL . 55% 2 52% 46%
[ JAL JAL I 3% 0 52% 39 48%
FRCAB) =RR R (A% JAL JAL ;| 1% 7
BR3 JAL JAL . 3% 0
| AP =B8R | HR% JAL JAL / 65%
R RE) =68 BB R JTA JAL . 55 2% 52%
[ JAL JTA I 7 4% 57%
BI=1E8 JEIES JAL JAL [ 1 8% 8 6%
[ JAL JAL 0. 1 8% 7%
BI=X% JCIES JAL JAL 1, 5% 2%
ADH JAL JAL 1, 75 7 7 74%
R (EH) =BFE [ (EE) & JAL JAL 7. 0 0 59%
B3 JAL JAL 7. 0 0 59%
ElEEET SERH JAL JAL 53%
JAL JAL 53%
JAL JAL
Fil R =EafE JAL JAL 55 69 50%
JAL JAL 46%
JAL JAL 50% 55% 59%
JAL JAL 61% 51%
JAL JAL , 5
JAL JAL 6" X 7 X 7 X 74
JAL JAL 76% X 7 X 7 X 74
=181l JAL JAL 76% , 7 ] 7 . 74
JAL JAL 76% X 7 X 7 X 74
ReR=heJIl JAL JAL 75% ] 7 , 7 . 74
JAL JAL 75% X 7 X 7 X 74
SR JAL JAL 75% ] 7 , 7 . 74
JAL JAL 75% X 7 X 7 X 74
RRECRB)=XE [RRCHHE) % JAL JAL 8% , . . 58
KEHE JAL JAL 8% . . . 57
EGACEEIES JAL JAL 0 , , ) 44
REF JAL JAL . 7 . 7 I 4
KR (RFH) =X&E JAL JAL I 4 I 4 [ 4
JAL JAL I 4 X 4 | 4
JAL JAL 0 , 7 , 0 ! 42
JAL JAL 9 , 7 X 1 X 42
ARCTFR) =XE JAL JAL 60¢ , 0% ] 4 . 6
JAL JAL 57 , 7 X 0 , 62% |
BEXE=/KRE JAL JAL 7 . 7 . 7 . 57
JAL JAL 7 , 7 K 7 K 7
(B2 &= (B | JAL JAL 4 1 4 X 4 X 4
il 3K JAL JAL 4 ] 4 ] 4 I 4
RR(CPH) =8F8 JAL JAL 7 . 89 ] 0 . 7
JAL JAL 7 , , } 49
RR(CPH) =BAE|ER (H JAL JAL 6 . . . 58%
JAL JAL 7% X X ; 1%
KR () =BAB[ KR () % JAL JAL 7% 0. 0, K 3%
BABE JAL JAL 55! 1. 55% 0. 69 . 46%
ERE="EIH | ERBX JAL RAC 6. 0% . . 49%
B (RER) ¢ RAC JAL 7. 8% 7. 48%
BHR=BAE HeES JAL JAL 6% 6, 56%
JAL JAL 6% 6, 56%
BHE=ETE = JAL JAL 0 55 0 7, 52%
JAL JAL 0 55% 7 0 6. 55%
RE=RJI JAL JAL 7 7 65! 28, 65%
JAL JAL 4 0, 62%
JAL JAL 4 X 59%
8 (ARER) ¢ RAC JAL 8¢ 1 51%
EEPNCES JAL RAC 8% 1 51%




EEEAR 2021/9/30
et 2021/11/24-| E—5#4
g RO R [ R 2021/11/30 | #I5iE %
RRCPB) =% [ERCHHE) [ $# &) JAL [JTA/RAC| 25,900 61% 1B JK:25400, A:25,700, % £:27,100, H:23.900
TR |48 (e [JTA/RAC]  JAL 25,900 61% | H7Kk:25,400, :25,800, £:26,100, £:24,200, H:27,100
RRCPHE)=FRE [RRCAHE) % PEB@BFH)| JAL [JTA/RAC| 25,600 65% | A sKkA:25,700, £ +:27,100, H:25,500
XBx (B§7E) | JAL JTA 37,900 53% | A Kk%:36,500, & H:36,000, £:37,200
fiagk |48 (F8E) [JTA/RAC| JAL 26,200 64% | H:26,500. 7K:26,300, 7K:26,700, £:26,900, +:25500
KR () =% @5 | KBk (R FH) SR CHE) | JAL JAL 23,100 68% | /KA:23,500, %:24,800, £:23,300, H:23,000
AIEEFTFR)|  JAL JAL 19,500 73% |%:22,500. 1:26,000. B:20,800
ZimplR |[HEECHE)| JAL JAL 24,600 66% | H:25400. 7K:24,800, K:25,500, £:26,800, 1:23,800
AIE@FTFR)|  JAL JAL 20,300 72% |%:22,700, £:20,400. B:23,900
KB (BA7E) =% 5l | KBx (8 7) %[ R CHE) | JAL JAL 23,100 68% | /KA:23,500, %:24,800, £:23,300, H:23,000
AIEEFTFR)|  JAL JAL 19,500 73% | %:22,500. 1:26,000. B:20,800
ZimplR |[HEECHE)| JAL JAL 24,600 66% | H:25400. 7K:24,800, 7K:25,500, £:26,800, 1:23,800
AIE@FTFR)|  JAL JAL 20,300 72% |%:22,700, £:20,400. B:23,900
KB (FFH =181l [ KB (FFD) FE[R/RCRE)|  JAL JAL 22,100 69% | H:23,200, /K:23,300, #:23,600. £:26,900. 1:21,200
BINFE [ERERCHHE)| JAL JAL 23,200 67% | H:23,900. 7K:24,000, &K%£:25,000, £:22,600. H:26,200
ABx (B8#E) =fB)JIl [ KBz (B8#8) F[RmmCRE)| JAL JAL 22,100 69% | H:23,200, /K:23,300, A:23,600. £:26,900. 1:21,200
BIFE [ERERCHE)| JAL JAL 23,200 67% | H:23,900. 7K:24,000, A%£:25,000, £:22,600. H:26,200
KR (7 =8I3% | KBx R %[ RR CHE) | JAL JAL 22,900 67% |7K:24,100, 7K:24,900, £:25,100, +:26,000, H:21,500
BERFE [HRCHEH)| JAL JAL 23,300 67% | H:23,200, A:24,000, £:25,200, H:24,200
K (BE#E) =#I3% | KBz (B7E) %[ 3HE CHE) | JAL JAL 22,900 67% |7K:24,100, 7K:24,900, £:25,100, +:26,000, H:21,500
HERFE [HRCHEH)| JAL JAL 23,300 67% | H:23,200, A:24,000, £:25,200, H:24,200
KR (D) =5 [ KBR(FFD #[ERECHE) | JAL JAL 23,300 67% | H:23,800, kK %£:24,800. :23,200. H:21,900
HLFE  |[RECHE)] JAL JAL 21,500 69% | H:22,200. 7K:22,900, 7K:23,800, £:24,700, +:21,300
KR (BE#8) =5 | KB (B7E) %[ 3HE CHE) | JAL JAL 23,300 67% | H:23,800, kK %:24,800. +:23,200. H:21,900
WL |[RECHE)] JAL JAL 21,500 69% | H:22,200. 7K:22,900, 7K:23,800, £:24,700, +:21,300
KR (771 =BEgE | KBR (FFD SRR CHHE) | JAL JAL 21,500 65%  H:22,000, /KA H:23,400, £:25,400, F:22,800
EEEFE |[ERCHHE)| JAL JAL 22,700 63% | H:23500, 7K:24,200, 7K:24,600, £:25,000, +:23,600
KBR (BETE) =EfE | KRR (BEFE) | RECHE)| JAL JAL 21,500 65% | H:22,000, 7KK H:23,400. £:25,400. :22,800
BEEEFE |[ERCHHE)| JAL JAL 22,700 63% | H:23,500. /K:24,200, :24,600, £:25,000. 1:23,600
KR (FH ==iR [ KBR(FFD #[ERECHE) | JAL JAL 23,900 60% | H:22,400, &: :18,500, H:22,100
=RE [EmCHE)| JAL JAL 23,300 61% | 7:23,900. :23,100, H:20.600
KR (BE#E) ==iR | KB (BH#8) %R CHE) | JAL JAL 23,900 60% | H:22,400. :18,500, H:22,100
=RE [EmCHE)| JAL JAL 23,300 61% | A:23900, &: £:23,100. H:20,600
KR (D) =20k [KBR(RFD % HE JAL JAL 14,900 59%
[ETES HE JAL JAL 15,100 58%
KB () =EBFE|XRFHHK| EBRS JAL JAL 18,900 58% | 1:20,100
BTER BERS JAL JAL 18,700 59% |£:19,400, £+ H:19,100
KR (D =5=d | KBx (D) 448 (BR&) | JAL [JTA/RAC|  30.100 49%
B0 P48 (BRER) [UTA/RAC|  JAL 29,300 50%
KB (B8#E) == [ KRk (B8 Z[ @& | JTA [JTA/RAC[ 32,900 44% | A7K:31,300, A&:31,600, & +:32,100. H:30,800
TEH |85 [JTA/RAC]  JTA 32,500 45% | AJKAK:31,300, £+:31,500, H:32,100
KR (A =F1E | KBr R 448 (FR&) | JAL [JTA/RAC| 23,000 65%
RiEFE |88 (F8E) [JTA/RAC| JAL 23,300 64% % H:24,700
ABx (B8#E) =R1E [ Kk (BEm) Z[ @& | JTA [JTA/RAC] 32,600 50% | H/KA:31,600, £+:32,100, H:31,400
RiEF |88 (F8E) [JTA/RAC| JTA 31,900 51% | B JKZA:31,400, £ 1£:31,300
Z2HEE (PE) =%#EH |2 HE (P8 E[LIEFFH)|  JAL JAL 18,800 72% |%:21,800, £:23,200, B:19,700
ZiERIF [ALEFHTFR)|  JAL JAL 19,100 72% | A:19,400, £:19,500, F:20,400. H:22,100
AHE(PE) =Eh|2aE(FM % PEGRE) [ JTA [JTA/RAC| 35300 45% | H:31,800. 7K:32,500. A H:32,800, £:33,000, £:32,500
TEHE |38 [JTA/RAC]  JTA 35,300 45% | A A:33,100, 7K:32,600, %:33,400, T H:33,800
AHE(PE) =RIE|2GEFH [ PEGEE)[ JTA [JITA/RAC| 35000 50% | H:31,900, 7K:32,200, 7K:32,300, £:32,600, +:32,000
fiazE |88 (F8E) [JTA/RAC| JTA 34,000 52% | HskAK%&+ H:33,200
FLIR (BT F %) =/MA[RUIR G Fm) %[ mm CHE) | JAL JAL 21,000 67% | HA:21,800, 7k:21,500, £:24,400, £:22,300, H:23500
MR [RRECHE)| JAL JAL 20,400 68% | H:22,100. 7K:20,800, K:21,000, £:24,200, + H:22,500
AIRF TR =M QR AU EFFR) R R/RACAA)| JAL JAL 30,100 58% |7/K:29,800, A:30,200, £:31,500, 1:31,800
FftEESR [RECRA)| JAL JAL 26,900 62% | A +£:27,700. sK:27,200., A:27,400. £:28,700, H:28,100
IR FH TR =R [ g TR 2[R HIE) | JAL JAL 25,800 64% | H:27,000. 7K:26,100, 7X:26,200, £:28,700, + H:28,300
RS [HRCEE)| JAL JAL 25,000 66% | H:25,800. JK:25,100, &:25,200, %+ H:28,200
WIRFHTHR) =LE[LEEFTFR R/ HHE)| JAL JAL 30,100 59% |7K:29,900, 7K:30,300, £:31,700, +:30,600, H:30,700
LEE% |HRCPA)| JAL JAL 27,700 62% | H:28500, /KA:28,100, £:31,700, £:31,100, H:30,900
AIRF TR =LOFHALREFFR) R[R/RACAA)| JAL JAL 28,900 63% | /KA:29,700. %:31,300, £:29,300, H:30,600
WA=FER%E SRR CHE)|  JAL JAL 29,400 62% | /KA:30,500. %:31,700, £:33,100, H:28,600
AR EFTFR) =HEHREG TR R[TFTCAH)| JAL JAL 31,000 56%
HER [HRCEA)| JAL JAL 31,000 56%
WRFHTHR) =EES[LEEF TR R/ HHE)| JAL JAL 30,400 58% | H:31,500. 7K:30,600, &:31,100, £ H:32,200, 1:31,200
EEF |[HERRCHHE)| JAL JAL 30,000 58% | H7K:30,100, A:30,600, £:32,200
IR FHTHR) =R [LEEFTFR R[HTHHE)| JAL JAL 32,100 55% |7/K:31,800, A:32,200, £+ H:33,000
=% [ERCHE)| JAL JAL 31,200 57% B A:31,700, 7k:31,300, £+ H:33,000
IR (FTF %) == A [HLR G Fm) %[ mm CHE) | JAL JAL 34,100 54% kA% + H:34,200
=A% |[ERCHHA)| JAL JAL 32,300 56% | H:33,700. 7K:32,400, &X:32,600, £+ H:34.200
IR FH TR =g TR R[RTHIE) | JAL JAL 34,100 54% | JKA:34,900. %:36,200, £:35,800, H:35,000
WL [ERCEE)| JAL JAL 34,700 54% |JKAK:35,800. & 1:36,200. H:34,000
IR EFR) =AM [ALIE FFm) [ Rm CHE) [ JAL JAL 28,000 65% | H:29,100, 7K:28,200, 7K:28,700, £:32,200, 1:28,800
A [HERECHE)| JAL JAL 26,700 67% | H7Kk:26,800, K:27,200, £:31,900, £:29,400, H:27,300
WIRFHTR) =KA[HLIRG TR R[HTHHE)| JAL JAL 29,300 63% | H:29,500. 7K:30,000, 7K:30,700, £:32,300, +:31,100
A9% |HRCPHA)| JAL JAL 30,300 62% | A H:30,200, 7k:31,400, A:31,700, £:32,900, £:33,700
IR FH TR =RB[LIEEFTFH R/ HHE)| JAL JAL 31,000 62% | H:30,900, /K A:31,300, £:34,000, £:34,900, H:32,200
EIG%E ["mCHE)| JAL JAL 30,000 64% | H:29,600, 7k:29,700, A:30,600, £:34,200, £:29,500
IR FH TR =BALEGF TR R/ HHE) | JAL JAL 31,100 61% [H:30,500. 7K:31,900, &:32,200, £:35,300, 1:33,100
RAE ["mCHE)| JAL JAL 30,100 62% | JKA:31,000. %:34,300, £:35,600, H:30,900
WIRFHTR) == B[ LIEGEFTFR R/ HHE)| JAL JAL 28,200 65% | /KA:29,000, £:32,100, 1:29,400, H:30,200
TR |[ERCRA)| JAL JAL 26,000 68% | H:27,000, 7K:26,100, 7K:26,500, £:29,800, 1:26,800
HRFFR) =BRES[ALIEFHFR) [ RR CHE) | JAL JAL 27,800 66% | H:31,000, /kAK:28,600, £:33,300, £:33,900, H:33,100
EBR ERCEE)] JAL JAL 26,700 68% | H:30,700. 7K:26,600, &:29,400, £ H:33,100, +:32,400




HIRETR) =HEMB) (IR T8 K| BECRE) | JAL JAL 30,300 64%  JKK:30,600. :36,800, +:33,400, H:29,700
XBRFFD|  JAL JAL 21,200 75% % H:24,000
ZHEE (P&  JAL JTA 33,700 61% | H:30,900. /K K:31,300, £:33,000, H:33,200
12 JAL JTA 31,100 65% | B sKk7K:30,600, +:32,400, H:32,800
hEE(RE) R RFECHE) | JAL JAL 29,500 65% |7K:29,700, 7K:30,100, £:32,100, +:31,900, H:34,300
KR FFD|  JAL JAL 17,200 80% |+ H:18,400
ABR(BAFE) | JTA JAL 31,300 64% B K7:29,300, £:32,500, £:32,800. H:30,000
Z2HEE (P& JTA JAL 34,000 61% | HA%:31,600, 7K:31,000, £ H:32,100
12 JTA JAL 31,100 65% | H7K:30,600, A:31,000, 1:32,800, H:31,600
ALOR (BT F %) =38 [#LIR i Fm) %[ Rm CHE) | JAL JAL 49,300 53% B H:49,700, 7K A:41,300, £:51,300, £:51,400
WEFTHR)=FHE| FHEFE [HRCHEHA)| JAL JAL 48,100 55% | F:48,500, /K AK:41,100, £:50,600, £:51,400, H:40,200
12 =% Rl wEFE [ERERCHHE)| JAL JAL 31,000 65% | H:32,400, /KA:31,400, £:35,100, 1:34,000, H:33,600
AIE@FTFR)|  JAL JAL 22,000 73% | 1:24,300. H:23,900
ZimplR |[HEECHE)| JAL JAL 31,400 65% | H:32,600. 7K:32,200, K:31,200, £:37,200, + H:32,400
AIE@FTFR)|  JAL JAL 20,700 75% | £:20,000. H:22,400
fEE =8I EEFE  [ERCEE)| JAL JAL 28,500 67% | H:29,600. 7K:29.400, 7K:29,700, £ H:33,200, +:32,100
fEE =8I JBINI%E  [ERCHE)| JAL JAL 30,300 65% | H:29,700, 7K:30,900, £:36,000, +:29,900, H:35.800
12 =8I EEFE |[ERCHE)| JAL JAL 30,800 64% | H:32,200. 7K:32,000, 7K:32,800. %
HEFE [HRCHEH)| JAL JAL 29,000 66% | H:29,300. 7K:30,300, £:33,400. 1
[EEEEDN wE%  [RECHE)| JAL JAL 30,600 64% | H:32,000. 7K:32,200, 7:32,500.
HLE%E |RRCRAA)| JAL JAL 28,300 67% | F:28,200. 7K:29,700, 7K:29,900. %
&R =g wEFE [ERERCHHE)| JAL JAL 29,400 62% | H:31,200. 7K:30,500, &:30,900. £:
AER(BERD| JAL JAL 20,600 70% | A:22,800, % +:24,000, H:22,000
HEEFE [ERERCHHE)| JAL JAL 28,000 64% | H:30,700. 7K:31,600, 7K:29,400, £:32,400, +:32,200
PAG ) NS JAL 21,700 69% | A1:24,500, H:25,600
BE=F% wER [ERCHAE)| JAL JAL 23,000 70% > H:23,800
PAG ) NS JAL 18,600 72% A£:18,900. %:19,000, H:20,200
BEHRE [ERE@H)| JAL JAL 23,000 70% %+ H:23,.800
PAG ) NS JAL 18,600 72% kA% £:19,000, H:17,900
EEFE  [ERCEE)| JAL JAL 21,000 72% %+ H:21,800
ZRE [EmRCEAE)] JAL JAL 21,000 72% %1 H:21,800
AER(BEFRD| JAL JAL 21,200 69%
&R =#H EEFE  |[ERCHE)| JAL JAL 31,500 55% | A sKA:31,700, £:34,600. 1:26,500. H:26,200
MEFE [ERGEE)| JAL JAL 31,100 56% | H:33,200. 7K:31,200, &K:31,300, £:35,000, + H:28,300
PAG ) NS JAL 23,200 63% |H:22,900, JkA£+:23,300, H:22,200
&R =1L wEFE [ERCHHE)| JAL JAL 25,100 59% | J:26,200. 7K:25,200, X:25,600, £+ H:28,700
PAG ) NS JAL 24,900 60% | H:25,400, £:25,000, H:26,000
\iRz% [RmCHAE)| JAL JAL 25,600 58% B 1t H:27,900. /K:25,900. &:26,000, %:27,700
AER(EFRD| JAL JAL 24,400 60% | H:24,100, KA #®+:24,500, H:23,800
&R = /MR wE%  [RECHE)| JAL JAL 26,200 61% [7K:26,600, £:26,700, F:25,000
MR [RRECHE)|  JAL JAL 26,700 60%
ERE== EE%E  [EGRE) | JTA [JTA/RAC| 26400 49% | B A% H:25900. 7k:25,600. £:26,200
TEHE |48 EE) [JTA/RAC]  JTA 26,400 49% | AJKA:25,700, £:26,000, £:26,200. H:26,300
ERE=fia EE% [ H#EGBE)| JTA [JTA/RAC| 26,600 54% /KA Z B:26,300
AiER 835 [JTA/RAC] JTA 26,600 54%
Zimpl=1E% Zmpl R [AREFTFR] JAL JAL 16,600 69% |+ H:17.600
TEEH [HRFTFH)|] JAL JAL 19,600 63% | H:20,300, + H:21,200
Bl =& ZimAl R [AREFTFR)|] JAL JAL 15,100 73% [H:18,700, &:15,500, £:17,800, +:15,800, H:16,000
& HIRFFE)|  JAL JAL 15,500 73% | H:19,700, K%:16,100, +:17,500, H:16,400
Bl =% Zimpl R [AREFTFR)|] JAL JAL 19,400 67% |+ H:20,600
FrER  [ALE@HTFH)| JAL JAL 21,200 64% |+ H:22,200
i Bl = M2 Zimpl % [RECHE)| JAL JAL 22,300 69% | H:23,200, 7K:22,600, &K:22,900, £:24,200, + H:21,400
MR [RRECHE)|  JAL JAL 20,600 71% | JKAK:21,700, £:23,200, £:21,100, H:20,500
Zim Bl =R ZiamplR |HECHE)| JAL JAL 26,700 67% [H:27,500, 7K:26,900, &:27,200, £:28,500, + H:27,300
mEL%E [HRCEE)| JAL JAL 25,500 69% /KA H:26,000, £:27,500, 1:27,100
ZimBl=IL8 Ziampl% |HRECHE)| JAL JAL 28,500 65% [ H:28,600, 7K:27,900, Z:28,100, £:30,800, +:27,400
bl =58 LE% |[ERCPA)| JAL JAL 27,800 66% |/kA:28,200. £:30,400. £:29,500, H:28,100
AIE@FTFR)|  JAL JAL 17,200 78% | JKA%:17,300. £ H:19,200
ZER=HE Zipl% |RRCHE)| JAL JAL 33,000 59% |H:33,100. 7K:30,400, 7:30,600, £:33,600, 1:33,900
HER [HRCEA)| JAL JAL 32,200 60% | /KA:31,400, %:34,600, £:33,900, H:32,100
Zim Bl =#l Zimpl% [ CHE)| JAL JAL 33,400 60% | H:34,300. 7K:33.900, K +:34,200. £:35,500, H:34,900
WILE  [ERCEE)| JAL JAL 32,700 61% /KA H:33200, £:34,700, 1:34,500
Zimpl=H1E ZimplR |HRECHE)| JAL JAL 51,900 55% [ H:53,200, 7K:44,100, K:44,400, £:54,200, F:53,500
AIER  |[ERCPA)| JAL JAL 49,700 57%  B:49,300, /K& H:43,000, £:53,200, £:52,900
TR =72 fBJIZE  |ERECHE)| JAL JAL 20,100 71% _[H:20,900, /K K:21,200, £:21,400, £:20,200, H:23,100
MR [RRCHE)|  JAL JAL 20,200 71%  [7K:20,300, 7K:20,500, £:22,600, +:19,000, H:20,100
BN =it BiE fBJI% [ERFECHAE)| JAL JAL 21,000 73% | H7K:21.800, A:22,100, £:22,600. £:22,000, H:24,500
EfEER [RECRA)| JAL JAL 27,400 65% [/KA:27,500. £:28,500, H:28900
FEJI =FE L JBIN%E  [EmCHE)| JAL JAL 24,900 69% | HJK:25,700, A% +:26,000. B:27,900
RS [HRCEE)| JAL JAL 24,500 69% | JKAK:24,600, £:27,800, H:25,600
B JBIN%E [ERCHE)| JAL JAL 31,700 59% | H:32,500, 7K:31,500, K:31,800, £:33,900, +:32,600
Bl HER [HRCEA)| JAL JAL 26,200 66% | /KA:26,300, £ H:27,300
B JBIN%E  [ERCHE)| JAL JAL 31,200 62% | H:32,000. 7K:32,500, 7K:32,600, £:32,900, +:33,000
Bl WINE [ERCHHE)| JAL JAL 31,400 62%  |7K:32,200, 7K:32,500, £:35,800, +:32,200, H:32,800
EIT JBI%E  [EmCHE)| JAL JAL 49,600 56% B H:50,800, 7K A:42,700, £:51,200, F:52,300
AIEHR  |[ERCPA)| JAL JAL 49,400 56% | H:49,800, /K AK:41,600, £:51,300, £:51,000, H:42,600
HEE =/2 fBRFE |[HRCHHE)| JAL JAL 20,700 70%  [/kA£:20,900. £:21,700. H:19.900
A [RRECHE)|  JAL JAL 20,400 71%  [7K:21,600, 7K:22,400, £:21,400, +:23,800, H:19.200
HIEE =R HEEFE [HRCHHEH)| JAL JAL 25,000 68% |/KkA:25200. £:26,200. £:26,400, H:25,900
RS [HRCEE)| JAL JAL 25,300 68% |7K:26,500, AK:27,300, £:27,500, +:29,800, H:24,900
R =L8 BERFE |[HRCHHE)| JAL JAL 27,200 66% |£:29,700, +:26,300. H:27,800
LE% |[HRCPA)| JAL JAL 27,600 65% |7K:28,800, 7:29,600, £:30,800, +:32,200, H:26.600
R =H=E BEFE [HRCHEH)| JAL JAL 31,800 59% |/KkA:30,800. £:34,100. £:32,800, H:32,700
HER [HRCEA)| JAL JAL 32,000 59% | 7A:32,800. £:35,000, 1:35,900. H:31,900
EEEE AT fEFE |[HRCHEH)| JAL JAL 31,800 61% [/KA:32,300, £ +:33500, H:33,200
WLE [ExREEHE)][ JAL JAL 32,500 60% |7K:33,700, 7K:34,500, £:34,700, +:37,200, H:31,700




fE=Hh1E HERFE |[HRECHEH)| JAL JAL 50,300 55% | A H:50,700. 7k A:42,400. 51,700, £:53,000
AEHR  |[ERCPA)| JAL JAL 49,400 56% | H:49,800, /K AK:42,000, £:51,000, £:51,400, H:41,500
HBIL =/ HLa%E |RRCRA)| JAL JAL 18,400 73% B 1:19,200, 7K A:19,800, £:20,700. H:19.600
NAFE [RRECHE)| JAL JAL 20,200 71%  B:20,700, /KA %:21,700, £:21,000, H:19.800
L= L% |ERCRA)| JAL JAL 23,600 70% | H:24.400, KA:25,000, £:25,900, 1:25,200, H:24,600
RS [HRCEE)| JAL JAL 25,100 68% /KA %:26,600. £:26,500. B:25,500
HL=HE HLEFE |RRCPAA)| JAL JAL 30,000 61% | H:30.800, /KA:30,400, £:33,400., 1£:31,800, H:31.400
HE R CHE)| JAL JAL 31,800 59% | JKA:32,100, %:34,100, £:33,100, H:32,500
HIL=410 HLE%E |RRCRA)| JAL JAL 29,900 63% | H:30,700, /KA:31,300, £:33,100, 1:31,600, H:32,200
MmILE [ERCHHE)| JAL JAL 32,300 60% /KA %:33,800. £:34,000
HL=FRE HLEFE  |RRCRA)| JAL JAL 47,800 57% | A H:49,000. 7k A:39,800. £:50,300. +:49,900
AIEHR  |[RRCPA)| JAL JAL 49,100 56%  H:50,300, /KA H:41,900, £:51,700, £:53,000
BHEE=/1R HEER [ERCHE)| JAL JAL 20,500 66% | H:21,300, /K A:22,000, £:22,400, £:21,200, H:20,800
AT [RRCHE)]  JAL JAL 19,600 68% | H:20,400, /K AK:22,100, £:23,800, £:20,600, H:20,900
BEEE =L BAER [ CHHE)| JAL JAL 24,800 65% | H:25,600, /KK H:26,300. £ 1:26,700
fELFE ["RCEE)| JAL JAL 23,900 66%  H:24,700. /KA H:26,400, £:28,100, £:26,100
HE=LE EEER [ERECHHE)| JAL JAL 26,200 63% | H:27,100, /KA:27,200, £:28,700, 1:26,400, H:26,900
LE% |[HRCPA)| JAL JAL 26,200 63% | H:26,800. 7K:27,200, 7K:28,300, £:30,500, +:28,100
EEE=HE EEER [RECHHE)| JAL JAL 30,800 55% | H:31,700, £:33,100, £:31,200, H:31,800
XBR FFD|  JAL JAL 21,200 68% | A1:24,000, H:25,500
HER [ERGHA)| JAL JAL 30,600 56% | H:31,000, 7K:29,000, 7K:29,400, £:33,300, +:32,500
XBR FFD|  JAL JAL 20,100 70% | A:22,300, £:23,500, 1:23,900. H:21,500
BEEE=HAL EEER [ERECHE)| JAL JAL 31,600 56% | H:32,400, KK H:33,300. £:33,700. £:34,000
XBR (FFD|  JAL JAL 22,800 64% | H:23,000, A:25,600, F:25,700. H:26,900
W [ERCHHE)| JAL JAL 31,100 57%  H:31,600, /KA £ H:33,600. £:35,300
KB FFD|  JAL JAL 21,700 66% | A:23,900, £:25,100, F:25,300. H:23,100
=AM BREE RECHE)| JAL JAL 26,600 66% | H:27,400, kK% + H:28,100
M [HERECHE)| JAL JAL 25,300 67% [H:25,700, 7K:24,900, £:27,200, £:26,700, H:27,000
EEE=X5 B HRECHA)| JAL JAL 21,900 71% |&+ H:22,500
KB (FFD|  JAL JAL 22,400 66% | A1:25200, H:29,500
KHFE  [RECHE)] JAL JAL 21,900 71% %+ H:22,500
KBR (FFD|  JAL JAL 21,300 68% | A:23,500, £ +:27,100, H:25,100
EEE=RI& HEEFX [ERERCHHE)| JAL JAL 22,400 72% |&+ H:23,000
XBR FFFD|  JAL JAL 25,900 65% | H:23,200. /K:23,600. A& £:28,700, H:28,200
RIE%E [RECHE)| JAL JAL 22,400 72% %+ H:23,000
KBR (FFD|  JAL JAL 22,100 70% | H:22,000, 7K:24,300, £:25500, +:28,200, H:23,200
EEE S HEEFE [ERECHHE)| JAL JAL 22,400 71% |&+ H:23,000
AR (R | JAL JAL 24,700 65% | A+:27,500, H:29,000
RBAZE [EmRCHE)] JAL JAL 22,400 71% %+ H:23,000
KBR (FFD|  JAL JAL 23,600 67% | A:25,800, £:27,800, 1:27,000. H:25,000
EEE=T A HEEFX [ERERCHHE)| JAL JAL 22,400 71% |&+ H:23,000
KBR FFD|  JAL JAL 26,900 62% | H:21,900, K+:29,700, H:30,800
BIEFE [RECHE)| JAL JAL 22,400 71% %+ H:23,000
KBR (FFD|  JAL JAL 25,200 65% | H:20,800, A:27,400. % :28,600. H:26,600
HE=ERS HEEFE [ERERCHHE)| JAL JAL 22,400 72% |[&+ H:23,000
KBR FFD|  JAL JAL 24,300 68% | A1t:27,100, H:28,200
BEREF [HECHH)| JAL JAL 22,400 72% |[&+ H:23,000
KBR FFD|  JAL JAL 23,300 69% | H:23,200. A:25500, % £:26,700, H:24.600
EEE=F1E EEER [ERFECHHE)| JAL JAL 49,800 52%  [/KA:43500
AIEH  |[RRCPA)| JAL JAL 48,800 53% | A% 1:49,800, /K H:43,400
BH=/MR EH% [HRRCHEE)| JAL JAL 21,000 65% [H:20,300, £:22,700, H:21,800
MR [RRECHE)|  JAL JAL 21,000 65% |%:22,700 9,800, H:21,800
BEH=—mitHE EH%  |[HRECHEE)| JAL JAL 27,300 60% |7K:27,700, £ +:29,400. H:26,300
EfEER |[RECRA)| JAL JAL 26,900 60% | H:29,400
BH=RWL % [HFCHEE)| JAL JAL 26,200 62% | H:23900, £:27,000, F:25,300. H:26,600
EIL% [HEFECHAE)|] JAL JAL 25,300 63% % H:26,100
BEH=LB EH% [HRCHEE)| JAL JAL 28,500 59% | H:27,500., 7k K:28,200. £:30,100, H:29,000
LEE% |[HRCAA)| JAL JAL 28,000 60% | /KA:28,100., %:29,600, £:26,600, H:28,800
EH=ILOFE B |[EECEHE)| JAL JAL 27,300 63% | H:25700, £:28,200, H:29,800
WO=FE% "RECHE)| JAL JAL 27,500 63% | JKK:27,700. £:29,000, +:27,400. H:29,900
BH-HE BEHR [EmRCEE)| JAL JAL 29,600 56%
KB (FFD|  JAL JAL 16,000 75% | A/kA%+:16,300, H:16,700
HER [ERCGEA)| JAL JAL 29,600 56%
XBR FFD|  JAL JAL 16,700 74% | A/kA%+:17,000, H:18,100
EH=ES A% |ERRCHHE)| JAL JAL 20,300 70% |[#+ H:21,300
EEH |[HRFCHAH)| JAL JAL 20,300 70% |[&+ H:21,300
BEH=m A% |ERCHHE)| JAL JAL 20,200 70% |[#+ H:20,500
=% [RRCHE)] JAL JAL 20,200 70% %+ H8:20,500
BEH=mH EH% [HRRCHEE)| JAL JAL 20,300 71%  [£:21,300, £ H:24,100
= |[EFECHE)| JAL JAL 20,300 71% |[&+ H:24,000
BH=HL A% [EZERGEHE)| JAL JAL 20,000 72% |[%+ H:20,500
KB (FFD|  JAL JAL 17,600 71% A H:18,100, 7k A£:17,900, £:18,000
WILE  [ERCGEE)| JAL JAL 20,000 72% %+ H:20,500
KB (FFD|  JAL JAL 17,600 71% | A/kA#£H:17.900, £:18,100
BEHE=dAM BEA%E  |ERRCHHE)| JAL JAL 21,800 71% |&+ H:22,600
A [EFCGEE)] JAL JAL 21,800 71% %+ H:22,600
BEH=KD BFAFE [EZERGEHE)| JAL JAL 21,700 71% |[&+ H:22,500
AR (F | JAL JAL 17,200 73% | AJkAK£+£:17,500, H:20,700
K% [REGH)| JAL JAL 21,700 71% &+ H:22,500
KBR (FFD|  JAL JAL 17,200 73% [AsKA:17,500, £+:19,900. H:21,500
BEH=R& BAFE [EZERGEHE)| JAL JAL 23,200 71% |[&+ H:24,000
KB FFD|  JAL JAL 20,700 71% | 7:18,300. 7K:18,700, A% £:21,000, H:19,400
RIE%E [RRCHE)| JAL JAL 23,200 71% %1 8:24,000
XBR FFD[  JAL JAL 18,000 75% | H:18,200, /KA £:18,300, £:21,000




BH=EX A% [EEHE)| JAL JAL 21,800 71%  |&+ H:22,600
AER(BEFRD| JAL JAL 20,200 71% | BskAK%& + H:20,500
BAZE [EmRCHE)| JAL JAL 21,800 71% %1 H:22,600
PAG ) NS JAL 19,500 72% | A skA£:19,800. £:20,600. H:20,900
BRI A% [EZERGEHE)| JAL JAL 21,800 71% |&+ H:22,600
AER(ERD| JAL JAL 21,700 68% | A:17,000, Jk A% £ H:22,000
BIEFE [RECHE)| JAL JAL 21,800 71% %1 H:22,600
PAG ) NS JAL 21,100 69% | A:17,000, kA% + H:21,400
EH=-ERE BFAF [EZERGEHE)| JAL JAL 23,200 71% |&+ H:24,000
AER(BEFRD| JAL JAL 19,600 73% | H:19,400, JKK:19,900. £+ H:20,400
BEREF [HRECHH)| JAL JAL 23,200 71% |&+ H:24,000
AER(BEFRD| JAL JAL 19,200 74%  H:19.400, KA#+:19,500, H:20,500
BEH=RE A% |ERRCHHE)| JAL JAL 48,500 52% | JKA:41,300
= HERCHAE)| JAL JAL 48,500 52% | JKA:41,000, H:43,100
ZR=/P CRE)| JAL JAL 20,800 65% | +:19,600. H:17,600
CRE)| JAL JAL 20,800 65% | %:17,500, £:16,300. B:19,600
=R=FW CRE) [ JAL JAL 25,600 62%  %::26,000, H:22,600
CRE) [ JAL JAL 24,300 64% | A H:25,100, 7k A:24,400, £ +:21,800
RAECHAE) | JAL JAL 24,800 64% |7K:26,400, £:29,100, H:24,200
CHE)| JAL JAL 28,000 59% [H H:27.200. £:25700, £:24,700
CRE)| JAL JAL 27,100 63% | %:27,200. H:25,900
TCHE)| JAL JAL 27,300 63% | JKA:27,500, %:24,700, £:24,200, H:28,900
=i HERCEE)| JAL JAL 29,600 55% | H:29,400
HE HERCHAE)| JAL JAL 29,600 55% | B 1:29,100, H:29,000
AER(BEFRD| JAL JAL 20,700 68% | 1:21,100
ZR=%S5 ZR% |RRCRHA)| JAL JAL 19,300 71%
BERX |ER <2~ JAL JAL 19,300 71%
ZiR=%ah =iR% JAL JAL 19,200 71% E
=% JAL JAL 19,200 71% > 1 H:19,500
ZR=5H =R% JAL JAL 19,300 72% »:20,300, £ H:23,100
SEIE S T (P JAL JAL 19,300 72% t H:23,000
=R=# =RE [EmCHE)] JAL JAL 19,000 73% > 1 H:19,500
ZiR=# ML |[RECHH)| JAL JAL 19,000 73% >+ H:19,500
AER(BERD| JAL JAL 22,300 64% :22,500
=iR=JdthmMm =RE [RmCHE)] JAL JAL 19,800 74% E H:20,600
A [HEH JAL JAL 19,800 74% E H:20,600
=R=KX% =R%  |[EZmCRAR)|] JAL JAL 19,700 73% E H:20,500
ZR=K% Xn% [ERCAR)] JAL JAL 19,700 73% £ H:20,500
KBR FFFD|  JAL JAL 21,900 66% 1 H:24,300
=RE [EmCHAE)| JAL JAL 21,200 73% > H:22,000
RIES |RRERCRA)| JAL JAL 21,200 73%  |& 1 H:22,000
AER(ERD| JAL JAL 22,700 69% | H:21,400. H:21,300
ZR=BEX ZR% |ERCRHA)| JAL JAL 19,800 74% |%+ H:20,600
ZiR=fX RBAZE [ERGHHE)| JAL JAL 19,800 74% |%+ H:20,600
AER(BERD| JAL JAL 24,900 64%
ZR=E% ZiR®% |[RRCPHA)| JAL JAL 19,800 74%
PAG ) NS JAL 21,400 69%
TR |[RRCRA)| JAL JAL 19,800 74%
AR (| JAL JAL 21,400 69%
ZR=ERS F JAL JAL 21,200 73%
JAL JAL 23,800 68%
JAL JAL 21,200 73%
JAL JAL 23,800 68%
ZR=H1E JAL JAL 48,500 52% | JKK:42,300. H:47,800
JAL JAL 46,700 54% | F:48,500, /K &:38,800, £:47,500. 1 :48,300. H:42,100
E=/I R JAL JAL 22,100 58% |£:22,900, £:16,000, H:17,000
JAL JAL 22,500 58% |+ H:16,000
MH=MHE JAL JAL 26,300 57% |+:25,600, H:24,800
JAL JAL 26,300 57% | 1:24,400. H:24,800
FE=RWL JAL JAL 26,300 58% |+ H:22,000
(P JAL JAL 26,000 58% |/KAK:26,100. £:26,300, £ H:21,500
ME=LE EHE [RFCHAHE)| JAL JAL 28,000 56% | +:24,400, H:24,800
LE% |[HRCPA)| JAL JAL 28,000 56% | +:24,400, H:24,200
ME=ILOFE EH [RFCHHE)| JAL JAL 28,100 58% |£:29,300, £:23,500, H:25,300
WA=FER%E [Rm CHE)|  JAL JAL 29,000 57% | JKA:29,200. £:29,700, £:23,900, H:25,300
MH=HE ER [ERCHAHE)| JAL JAL 26,300 57%
KBR FFD|  JAL JAL 20,600 65% | H:21,000
HEHX [RECHH)| JAL JAL 26,300 57%
PAG ) NS JAL 21,300 64% 2,600
MH=ES MEFE |[ERCHH)| JAL JAL 20,200 67% E H:20,700
[EE I E ¥ (23 B[ JAL JAL 20,200 67% E H:20,700
ME=51K FREH JAL JAL 20,200 67% t H:20,700
EANFE JAL JAL 20,200 67% F B:20,700
ME=5% FEFE JAL JAL 20,300 68% E H:20,800
=A% JAL JAL 20,300 68% > H:20,800
FE=HML AR JAL JAL 20,400 68% > H:20,900
JAL JAL 21,000 63% | B H:21,200, £:21,100
EAITES JAL JAL 20,400 68% % 1 H:20,900
JAL JAL 21,000 63% | 1:21,200
FE=dt M FEF F JAL JAL 28,500 59% |£:30,100, £:23,300. H:26,200
JEAMRE [ERCEE)| JAL JAL 27,200 61% |%:30,500, £:23,000, H:23,700
ME=X% MEF [ERCHH)| JAL JAL 29,500 57% [H:29,300, 7K:29,700, Z:30,100, £:30,500, +:25,200
KB FFD|  JAL JAL 20,600 65% | H:23,800
XH% |[RRCRA)| JAL JAL 29,900 56% | H:29,800. 7K:30,100, 7K:30,400, £:30,500, +:24,800
ABR ()| JAL JAL 21,800 63% |2 1:23,000, H:26,000




MH=RI& AR [ERCHAHE)| JAL JAL 29,600 59% |H:29,700, 7K:29,500, £:30,800, +:25,100, H:26,800
AER(BEFRD| JAL JAL 24,100 64% | H:21,400, 7K:21,900, H:22,500
RIE%E [RRCHE)| JAL JAL 30,100 58% | H7Kk:29,700, A:30,600, £:32,200, £:26,900, H:26,800
PAG ) NS JAL 21,400 68% | H:20,100, H:20,000
MHE=FEX AR [ERCHAHE)| JAL JAL 29,700 58% [H:29,300, &:30,000, £:31,800, F:26,000, H:25,700
AER(ERD| JAL JAL 24,800 62%
RBAZE [EmRCHE)|] JAL JAL 29,700 58% |%::30,900. 1:26,900. H:26,000
PAG ) NS JAL 23,600 63% |[A1:24,100, £:24,500, H:25.400
MH=ZI& AR [ERCHAHE)| JAL JAL 27,700 60% |%:28,900, £:23,200. H:24,800
AER(BEFRD| JAL JAL 25,100 61% | H:21,300
BIEFE [RECHE)] JAL JAL 28,100 60% |%::29,200, 1:24,000. H:24,800
AER(BEFRD| JAL JAL 20,100 69%
ME=ERS MER [ERCHAHE)| JAL JAL 27,300 62% | H:29,600, £:30,600, F:24,100. H:26.400
PAG ) NS JAL 24,200 65% | H:23,700, &1 H:24,700
BRE® |[HRECHH)| JAL JAL 26,900 63% | H:29,700, 7K:29,400, £:31,700, +:25,600, H:26.400
PAG ) NS JAL 23,800 65% | H:23,700. H:26,400
MHE=FRE EKE [HRFCHAH)| JAL JAL 47,200 51% B % H:47.800, /kXK:40,600, +:48,900
AIER  |[ERCPA)| JAL JAL 46,700 51% | H:47.300, /K K:40,600, £:47,800, £:48,700, H:38,500
TEE=HE EER | KRUEEFD| JAL JAL 29,100 53% | H:28,000
HE XBRFFD|  JAL JAL 29,000 53% | H:27.300
& =110 EER | KRUEEFD| JAL JAL 29,900 50% | A H:27,400. £:30,000
MmILFE [ KBRURFD| JAL JAL 29,900 50% | H:27,200. £:30,000. H:28,000
EE=XS EER | KRUEEFD| JAL JAL 30,300 51%  H:27,600. H:30,000
AoFE | RKERUEPFH| JAL JAL 29,500 53% | H:27,600. % +:31,700, H:30,500
EE=RIK EER | KRUEEFD| JAL JAL 33,000 53% | H:27,600. 7K:30,700, H:28,700
RIS [ XKERUERFD| JAL JAL 30,300 56% | H:26,300, H:27,000
TEE=REX EER | KRUEEFD| JAL JAL 32,600 51% B H:30,300
AR | XKIRURFD| JAL JAL 32,500 51% [H:29,900, £:32,600, H:31,200
EE=2F EER | KRUEEFD| JAL JAL 32,900 51% | H:27,100, B:31,500
2] JAL JAL 27,900 62% | H:24,500, £:28,000, H:25,200
TR | KERUEEFD| JAL JAL 32,900 51%  H:27,100, B:31,900
12 JAL JAL 27,900 62% | A H:23200, £:28,600, £:28,900
EE=ERE EER | KRUEEFD| JAL JAL 33,600 53% | H:30,700, £:34,000. H:30,900
BRER | KERUFFD| JAL JAL 31,500 56% | H:29,900. H:32,200
LT =R W% [EmCGEE)| JAL JAL 16,800 62% |1 H:15600
/ R (W JAL JAL 16,800 62% |+ H:15,600
Lz =ML JAL JAL 20,800 61% |%:21,100
JAL JAL 21,100 60%
WK =LE58 JAL JAL 24,400 55% | JKA:24,500. £:25,400, 1:24,000
JAL JAL 23,200 57% |7K:21,900, A:23,000, £:23,500, T:21,200
IR =1L A=A JAL JAL 22,800 61% |4 H:23,200, £:23,100
i D JAL JAL 23,100 61% | %:24,000, :23,200, B:24,900
I =HE W% [EECRE)| JAL JAL 22,400 57% | A/kA+ H:22,800, £:23,200
KBR (FFD|  JAL JAL 21,800 63% | H:22,600
HER [ERCGEA)| JAL JAL 22,800 56%
AER(BEFRD| JAL JAL 23,000 61% | H:23,500, H:23,900
IR =15 \ifz%e  [RmCHE)| JAL JAL 24,900 53% |%:25,200, £:25,000, H:23,200
EEF¥ |[HERCHHE)| JAL JAL 26,400 50% |+ H:26,300
IR == W% [RECHE)| JAL JAL 25,500 52%
=% |[ERCRAA)| JAL JAL 25,500 52%
Lz =#21L \WFs%  [EmGIE)| JAL JAL 26,300 53%
AER(ERD| JAL JAL 22,900 59% | B H:23,100, £:23,000
WILE [ERGEE)| JAL JAL 26,300 53%
ABR (D) | JAL JAL 22,000 61% | 1:22,200
I =X% W% [EECRE)|] JAL JAL 24,200 59% B 1t H:24,000. /K:24,400. 7K:24,800. %::24,900
KBR (FFD|  JAL JAL 22,500 62% | H:25,700
XH% |[RRCRHA)| JAL JAL 24,400 59% [H:24,100, /kK:24,000, H:25.200
AER(BERD| JAL JAL 23,500 60% B % +:24,000. H:27.300
WL =FiI& \WFs%  [EmGIE)| JAL JAL 24,300 62% | H:24,400. 7K:24,200, & £:24,700
AER(EFRD| JAL JAL 26,000 60% | H:23,300, /K:23,700, H:24,400
RER [HRRCRA)| JAL JAL 26,400 58%  HKH:26,000, K1:26,500, £:27,700
PAG ) NS JAL 24,300 63% | H:23500, £:25,100. B:23,800
ILifs =FER W% [RECHE)| JAL JAL 24,000 61% |£:24,400, £:24,200
KBR FFD|  JAL JAL 25,300 60% | H:25,700
RBAZE [RmRCHE)| JAL JAL 24,000 61%  %:25200, H:25,600
AER(ERD| JAL JAL 25,300 60% | B A+:25800. £:26,200, H:26,700
ILiF ==& \iRz%  [RmCEE)| JAL JAL 22,400 63% |&+ H:22,800
AR (FFH | JAL JAL 27,000 57% | H:22,500
BIEFE [RECHE)| JAL JAL 22,400 63% % H:22,800
AR (FFH | JAL JAL 25,500 60% | H:23,500
Ik =ERS W% [RECHE)| JAL JAL 22,000 65% | A +:23,700. £:24,500. H:25,100
PAG ) NS JAL 25,400 62% | H:24,900, % +:25,900. H:26,300
BRE® |[HRECHH)| JAL JAL 22,000 65% | H:24,700, A:25,300, %£:25,100, F:24.400
PAG ) NS JAL 25,400 62% | H:25,900, £:25,500, H:26,300
IW=H1E W% [RECRE)| JAL JAL 47,200 45% | B % H:47,800, /K 7:38,300, 1:48,900
AIER  |[ERCPA)| JAL JAL 46,700 46% | B:47,300, /KK B:38,100, £:47,800, 1:48,700
E=H=E = AR (FF | JAL JAL 23,600 59% | H:22,900, £:25,200, H:20,700
HE XBR(FFD|  JAL JAL 22,800 60% | +:22,600. H:23,600
& =#L & AR (FF | JAL JAL 20,300 63% | A H:20,500, £:20,400
WL [ KBRURFD| JAL JAL 21,600 60% | 1:21,800
&E=xX% M= RBR (FFFH) | JAL JAL 22,600 60% | H:23,100
A% | KRUREFD| JAL JAL 22,100 61% |/K:23,100, % +:23,600, H:26,000
& =Ri& & AR (F | JAL JAL 23,400 64% | H:21,500, 7K:21,800, H:21,800
RIS [ XKERUEEFD| JAL JAL 24,300 62% | H:23,000, £:25,800, 1:24,700. H:22,900
& =X & AR (F | JAL JAL 24,900 60%
AR [ XKRUEEF| JAL JAL 24,200 61% 7K:24,900. 7:24,400, £:25,600. T H:25,400




W& ==k WEFE [ RERURFD| JAL JAL 24,400 61% | H:19,900, £:27.400
=R [ KERURFD| JAL JAL 24,700 60% | H:23.000, /KA:25,000, £:25,100, 1:26,700, H:23,700
heE=ERS iEFE [RKBRURFD| JAL JAL 24,300 63% | H:23,400, £:26,300. H:23,600
BRER | KBRUFF| JAL JAL 26,100 60% [H:25,800, 7K:26,600, £:27,300, +:25,500, H:27,000
Fim=HE FimFE | RKBRURFD| JAL JAL 20,000 64% H:19,900, H:17,700
HE AR (FF | JAL JAL 17,000 69% | H:18,500
Fim=HL FimFE | KRURFD| JAL JAL 17,800 66% | A+ H:17,900
WmILFE [ RKBRURFD| JAL JAL 17,900 66% | +:18,100. H:18,800
Fim=X% FimFE | KBRURFD| JAL JAL 17,400 68%  H:17,300. H:20,500
X% [KERUFRFD|  JAL JAL 17,500 68% |2 1:19,900, H:21,300
Fim=RKI& FimFE | KBRURFD| JAL JAL 18,200 71% [H:16,800. 7K:17,500, H:16,700
RS [ KERUEREFD| JAL JAL 18,300 71% [ H:17.000, £:19,800, H:17.800
Fim=EEX FimFE | KBRURFD| JAL JAL 19,800 67% | H:20,000
AR | KRURFD| JAL JAL 19,800 67% [H:19,400, £:20,600, H:20,700
=2k FimFE | RKBRURFD| JAL JAL 16,900 72% [H:16,800. £+ H:21,000
=R [ KERURFD| JAL JAL 17,000 72% [+:23,300, H:17,900
FR=ERE ¥ﬁ5%§é AR (R | JAL JAL 20,700 68% | H:20,400, £:21,100, H:20,600
REH% | KRR JAL JAL 19,500 69% | H:19,400, H:21,700
IMR=TE L /M‘% ES m H)| JAL JAL 21,000 65% :19,400, H:20,600
EACE JAL JAL 20,900 65% :19,500, H:20,600
IMA=TRE JAL JAL 23,900 60% :22,100, H:23,000
JAL JAL 23,400 61% :21,800, H:22,800
IMA=ILOFE JAL JAL 22,100 66% |£:22,200, £:20,900. H:22,700
JAL JAL 23,200 64% | JKA:23,400. %:23,800, £:22,500, H:22,700
IMA=HE JAL JAL 25,900 55%
JAL JAL 25,900 55%
IMA=TES JAL JAL 25,000 57% | 1:24,100
JAL JAL 25,000 57% | 1:24,100
INR=EH IV FE JAL JAL 24,400 59% |%:25,400
=INFE JAL JAL 24,400 59% |%::26,000
IMR=EH INAFE JAL JAL 26,800 56% | 1:26,700. H:26,400
=% JAL JAL 26,800 56%
A= RN JAL JAL 26,300 57%
[NITE:S JAL JAL 26,300 57%
MR =JE RN INAFE JAL JAL 23,100 66% > . £:20,700, H:23,900
BN LE JAL JAL 22,100 67% > :21,500, H:22,300
IMR=K% MR JAL JAL 25,300 61% |A: . 7K:25,400, 7:26,300. £:26,700, £:22,600
AD% JAL JAL 25,000 62% |A: . 7K:24,800. %:26,300, £:24,100
INA=FIG MR JAL JAL 25,500 63% |A: %::27,100, £:26,500, H:24,200
RIE% JAL JAL 25,400 63% A 7K:25,000, :25500. 2:27,600. T 24,300, H:25,200
INA=RER MR JAL JAL 24,100 64% | H:23,800. 7K:24,500, :25,300, +:24,700, H:22,900
A% JAL JAL 23,900 64% |£:27,700, £:25,500, H:26,300
INR=E & INAFE JAL JAL 21,400 68%  %:21,800, £:21,000
LS JAL JAL 21,400 68% | %::23,200, 1:20,200. H:23,400
IMA=EERE AN FE [€E JAL JAL 21,800 69% | A %:24,200., K:22,700. £:25,500, H:24,700
EBRE® |HRECHHE)| JAL JAL 21,800 69% | H:23,700, 7K:21,200, 7K:24,300, £:26,300, +:23,400
IMA=EH IRF B RE) | JTA |UTA/RAC| 28,700 57% | AKXK:28,000, £+ H:31,400
TEH |85 [JTA/RAC]  JTA 28,700 57% | H:28,300, kK:28,000, £+ H:31,400
IMR=FR1E A% [EECRAE)| JAL JAL 47,200 49% | A% H:47,800, /kK:37,300, £:48,900
Sh#E(BE | JTA [JTA/RAC[ 28,400 61% | HA:28,000, 7k:28,100, £ H:31,100, £:31,000
RER [RRCPHA)| JAL JAL 46,700 50% | H:47.300, /K AK:37,100, £:47,800, £:48,700, H:36.900
%8 (B8 [JTA/RAC| JTA 28,600 61% | H:28,800, /KA:28,400, &+ H:31,900
Eil== FELFE  [PE@BF)| JTA [JTA/RAC] 28,200 52% B JK:27,700, & H:28,000, £ £:32,000
TEHE |88 [JTA/RAC]  JTA 28,200 52% | HsKA:27,700, £ +:28,000, H:32,000
EL=F&E EILFE [FEGRE| JTA [JTA/RAC[ 27,900 57% | B KA H:28,000, % 1:32,000
RiEg |88 (F8%) [JTA/RAC| JTA 28,500 56% | H#£:28,800, 7k A +:28,600, H:32,800
EH=EE SEIIE [=iE] JAL JAL 21,700 56% |%:21,800, H:22,400
HIEHE 12 JAL JAL 21,700 56% |£:22,400, £:22,700, H:22,200
e (RER) = hEE(RE) R RFECHE) | JAL JAL 29,000 64%  [7K:29,200, £:30,000, H:32,200
AR (F | JAL JAL 17,300 79% | AKAK£+:17,600. H:18,700
BEHRE [ER@H)| JAL JAL 28,400 65% | %:35,100, 1:31,400, H:27,800
| PAG ) NS JAL 17,300 79% [AKA£EH:17,600
| s (FRER) hEE(RE) R R CHE) | JAL JAL 25,500 68% | H:28,800. A%:25700, H:31,200
| s (FRER) R ZR% |HRCRA)| JAL JAL 25,200 69% |£:25,700, £:25,300, H:23,500
PHE (RER) =FNE [ (BB R[EFECHE) | JAL JAL 28,500 62% | 7:29,100, %£:30,700, F:25,200. H:27.600
KBR FFD|  JAL JAL 21,900 71% | H:23,200
MEF [ERCHH)| JAL JAL 30,500 59% | 7:30,900, %:34,700, F:27,600. H:24.900
AER(EFRD| JAL JAL 21,900 71%
PHE (RER) =165 [hiE (BF) R [ KM (BFD | JAL JAL 29,600 63% | H:28,100. H:29,000
12 JTA JAL 36,700 56% | B H:31,500, 7K:36,200, A&:36,600, £:37,000
EER | KRUEEFD| JAL JAL 29,600 63% B H:26,900
12 JAL JTA 36,700 56% | H:32,800, 7k K:36,200. £:37,000, H:33,600
PHE (RER) = L2 [ (RE) F[EFECHE)|  JAL JAL 24,800 62% | A%:25,000, H:27,200
AER(ERD| JAL JAL 23,600 69% | H:24,100, H:24,500
% |EECHHE)| JAL JAL 25,800 61% & +:27,200. H:25,200
KB FFD|  JAL JAL 23,100 69% | H:23,500
PR GRER) =LE BB X EE JTA JAL 30,800 62% | HKH:30,300. A:30,700, £:31,300
AER(BEFRD| JAL JAL 22,200 70% |7K:23,200, £:23,000, £ H:23,200
(=g [=iE] JAL JTA 31,300 61% | A sKA:30,800. £:32,800. +:31,600. H:33,200
AER(ERD| JAL JAL 20,000 73%
PR (RER) = /MY [ (RER) R RR CHHE) | JAL JAL 25,500 64% | 7:25,900. %:26,800, F:22,600. H:26,900
NAE [RRECHE)] JAL JAL 24,800 65% |%::30,000, :25,000. B:23,000
SPHE (BRER) =240 R (RE) H &) JTA JAL 25,900 56%
SEES = JAL JTA 25,900 56%
PEEGRER) =L hE BB R | JTA JAL 24,100 56%
PAIIE:S & JAL JTA 24,100 56%




HR(PHE)=EZXE[ER(CAEX| BERS JAL JAL 27,000 62% | H:26,200. 7K:26,700, K:27,100, %:28,300, 1:29,500
KRB JAL JAL 20,200 70% | +:21,400. H:19,700
BEXER | BERS JAL JAL 26,200 63% [H:29,400, :28,700, £:30,600, +:28,600, H:30,200
AER(ERD| JAL JAL 21,800 67% JKAH:21,500, £:21,200
HR(PUA) =ERS|RRPHE)K| ERS JAL JAL 24,700 66% | /K:25,600, £:26,800, 1:29,600
BEXE | JAL JAL 24,900 61% B H:24,200, & £:25,700
ERER ERE JAL JAL 24,200 66% | A% H:27.400. K:26,700, £:27,500
BEKRE | JAL JAL 24,900 61% | HH:25400
HRHA) =#ZE|RR(PHE)K| ERS JAL JAL 26,400 65% | B A:26,500. 7k:26,100, £:27,700, 1:28,900, H:28,000
BERE | JAL JAL 27,100 60% | H H:26,400, & 1:27,900
mEER BERS JAL JAL 25,600 66% [ H:28,800, &:28,100, £:29,200, +:28,000, H:29,600
HECRE) =4k BH|RACAH%| BERES JAL JAL 25,900 67% | A A:26,800. £:28,000. £:30,800. H:28,200
HFECRE) =4k B KB | BERES JAL JAL 25,900 67% [H:29,100, K:28,400, £:29,500, +:28,300, H:29,900
RR(PH) =5 [ERCHE)%| BRES JAL JAL 27,600 65% | A+ H:26,800. 7k:27,300. A&:27,700. %:28,900
RRE(CPHE) =53 5% BERS JAL JAL 26,800 66% | A% H:30,000, A:29,300, £:29,200
KR (F =8EXE[XRFFHE| ERS JAL JAL 22,800 60% > . 1:24,000, H:23,600
BEEAER | BERS JAL JAL 23,800 58% H:24,200
KB () =BERE| KRB K| EBRS JAL JAL 22,500 61% | H:22,300, :22,900
BEXE | JAL JAL 17,800 66%
ERER ERE JAL JAL 21,800 63% |£:22,500, £ H:22,200
BEXE | JAL JAL 17,800 66%
KRR =E2E|XRFMH| EBRS JAL JAL 23,400 62% | H:23,200, £:24,200
KB () =28 EzE% ERS JAL JAL 23,200 62% |£:23,900. 1 H:23,600
BEXE | JAL JAL 20,000 65%
KR (R =4k BE| KR (FFHH| BERES JAL JAL 23,700 63% | H:23500, :24,100
KR (P =4k BE| KB | BERES JAL JAL 23,500 63% |£:24,200, £ H:23,900
KR (B =554 [ KIR(FHH|_ERS JAL JAL 24,200 63% | +:25,400, H:23,200
BEXE | JAL JAL 23,600 63%
CE: BERS JAL JAL 23,300 65% | H:23,200, H:24,600
ERE=EEXS FEES BERS JAL JAL 17,600 63% |H:17,700
BEXER | BERS JAL JAL 18,500 61%  %:19,300, H:17.300
BEXE | JAL JAL 16,600 65%
EE==28 ERERE | EEKRE | JAL JAL 16,600 65%
B =1fz8 RS ERS JAL JAL 18,700 64% | H:17,500
BERE | JAL JAL 18,800 64%
mLER BERS JAL JAL 18,700 64% | H:17,500
BERE | JAL JAL 18,800 64%
B =5k EE: ERE JAL JAL 19,900 65% | H:18,700
BERE | JAL JAL 22,400 62%
RR(CAHA) =5ME[RRCAR)%| FHIE JAL RAC 43,000 46% |7k 7<:38,000
SMEFR |4 (BER) | RAC JAL 31,000 61% | A%:31,200, H:33,400
RiE RAC JAL 43,000 46% |7k 7A:37,900
KBR () =5ME | SHMEH |+#EFH)| RAC JAL 38,900 46% | A /k7:38,600. & *:38,500
SMEFR [Mh#E(BER) | RAC JTA 38,900 46% | A /k7}:38,600, & 1:38,500
RiE RAC JTA 39,100 42% | A Kk%:34,600, A:34,000. F:34,900. H:35,300
SHEFRE | FEE) | RAC JTA 39,900 48%
& =5 AE SHEFRE |#EGBE) | RAC JTA 30,200 53% | Ak H:29,700, A:30,100. :30,600. £:31,100
HEAE) =5EMEGE) %] #iE [UTA/RAC] RAC 11,500 70% | BskAR£1H:11.600
S ARE 5 i RAC _[JTA/RAC| _ 12,100 69% | A% H:12,400, /KA T:12,200
HRHA)=AKS|[RZCRA) F|H#FH)| JAL [JTA/RAC| 23400 60% | %:26,500, £:25,600. B:22,900
AKEFE |48 (HRER) [avurarac]  JAL 24,100 59% | 7k:24,500, %:24,600. £:22,500. H:25,600
KBk () =AKB[ XK (B X[ @ GEF) | JAL [JTA/RAC] 31,100 39% | H/KA:30,000, £ +:30,600. H:29,300
AKEFE |48 (HRE) [avurarac]  JAL 30,600 40% | A JKA:29,200. :29,300, H:29,900
KBx (B878) = AK B[ XMk (B8F) %[ h# BF) | JTA [JTA/RAC] 31,100 39% | A/KA:30,000, :30,600, H:29,300
AKEFE |8 ERE) [avuarac]  JTA 30,600 40% | A JKA:29,200. :29,300, H:29,900
ZHE(PEH) =AXB[2ARE P EF@FFH | JTA [JTA/RAC| 34,100 40% [ H:30,500, 7k A:31,200, £:31,500, +:31,000, H:31,300
AKEFE |48 (HRE) [avuarac]  JTA 34,400 39% | HA:31,800. sk:31,300. £:31,900. £ H:32,300
BE=AXE EE%E  [EGRE) | JTA [JTA/RAC| 25300 42% | A€ H:24,700, 7k K:24,600, £:24,.800
AKEFE A8 IRE) [avuarac]  JTA 25,500 42% | A JKAK:24,400. £:24,500., £:24,700, H:24,800
RERECHHE) =Rk [ERCHE) [ XREFD|  JAL JAL 20,500 60% [AK#£:21,400. £:20,600. H:19.200
HE JAL JAL 21,500 54% B KX H:21,900, &:23,000, £:23,500
IRuE% | KERURFD| JAL JAL 19,900 61% [/KAKH:19,600, £:19,100
HE JAL JAL 21,100 55%
PHE (RER) =#nim [h#E (B | KBk (FRFD | JAL JAL 17,600 76% | H:18,500
FimFE | RKBRURFD| JAL JAL 17,500 76% B H:17.400
BE=HRGTFR | EER |[HRCHHA)| JAL JAL 31,900 60% | A H:32,300. 7kA:33,000. £:33,800. 1:35,600
HIEEH TR R RRCHE) | JAL JAL 33,200 59% |H:33,700, /K AK:34,000, £:40,400, £:36,200, H:35,.300
BEHE=%E5 BEAE  [ARETH| JAL JAL 15,900 67% |+ H:16,800
ZmplFE |ARETFE)| JAL JAL 15,900 67% |+ H:16,800
FUER =% 5 PEE  [AREGETH| JAL JAL 16,400 69% |+ H:17.300
LBl FE |HREFHE)| JAL JAL 17,300 67% |+ H:18,200
ZHE(hE) =FLE|2aE (P R|[EFCAH)| JAL JAL 15,700 76% | JKAK#:17,600, £:17,400, H:16,700
HL%E  |RRCRA)| JAL JAL 13,500 79% | H:14,500, /KK H:15,300. £:16,400. £:16,000
%o R (hE) =fB)l |2 HE (h i) % B JAL JAL 14,300 78% | H:14,500. 7K:15.800, :16,100, £:20,300, + H:15,800
JEES JAL JAL 15,100 77% | H:15,600, A:15,900, £:16,100, H:19,400
B =%l BN JAL JAL 30,600 62% |/kA:31,700. £:34,800. £:32,500, H:31,400
S JAL JAL 31,900 60% | H:32,800. 7K:32,400, 7K:32,700, £:35,500, +:32,400
EE=%E5 EEHX JAL JAL 30,100 63% | H:29.300, /KA:31,300, £:32,800, 1:31,600, H:31,200
S JAL JAL 31,200 61% | H:31,300, 7K:30,700, 7K:31,000, £:32,600, 1:30,800
Ko =%i&E 5 AR % JAL JAL 23,400 73%
it Bl F JAL JAL 23,900 73%
R =255 RIB% JAL JAL 23,900 74%
ZimplR |&E JAL JAL 23,900 74% *
BEAR=%i3 EAR "R JAL JAL 23,900 73% + R:25,000
TR FE [RECHE)| JAL JAL 23,900 73% >+ B:25,000




ECEE S TR |RRCRE)| JAL JAL 23,900 73% |&+ H:25,000
Zimpl% [ CHE)| JAL JAL 23,900 73% %+ H:25,000
BRE=%i&5 BEREF [RECHH)| JAL JAL 23,900 74% |+ H:25,000
Zimpl% [HECHE)| JAL JAL 23,900 74% %+ H:25,000
ARFTFR) =BEXB[ALREFFR)R[RACHA)| JAL JAL 34,000 63% | B H:33,300, 7k:33,700, K:34,100, %:35,400, 1:35,700
EBEAER [HRCHAE)| JAL JAL 31,300 66% | A H:32,400. sK:31,200. AK:31,900. £:34,000
BER=BEXE EH%  |[HRCHE)| JAL JAL 31,200 64% | H:30,500, 7K:31,600, £ +:33,300, H:29,500
BEAEHR HRCHE)| JAL JAL 32,500 63% [H:33,000, £:33,300, H:33,800
MH=EEXXES FER  [RFCHEH)| JAL JAL 33,600 58% | H:32,900, £:35,200, +:29,500. H:28,000
BEAER [HRCHAE)| JAL JAL 32,000 60% [H:32,500, &:32,400, £:34,000, +:28,700, H:29,200
IMR=BEKXES MMRR  [RRCRA)| JAL JAL 27,300 65% | F:26,600, £ +:26,900. H:25,400
BEAER [HRCHAE)| JAL JAL 27,300 65% | H:27,800, £:26,100. H:26,600
B =4I =% |[ERCRA)| JAL JAL 30,400 61% [7K:31,600, &:32,400, £:35,000, +:35,200, H:30,000
SRR  [ERCHE)| JAL JAL 30,300 61% | /KA:30,700. %:33,200, £:31,900, H:31,100
EE=1I% EEH |[RERFCHAHE)| JAL JAL 29,800 62% [/KA:30.300, £ +:30,600. H:29,700
BERFE [HRCHEH)| JAL JAL 29,900 62% [£:31,100, £:30,300. H:30,700
R =4I AnFE  |[ERERCHE)| JAL JAL 22,400 74% |&+ H:23,400
HRFE |[HRCHEH)| JAL JAL 22,400 74% |&+ H:23,400
RIG=4I% R [HRCPA)| JAL JAL 22,900 74% |&+ H:23,900
HIEE RECHE)| JAL JAL 22,900 74% |&+ H:23,900
REA =4I REAZE |[HFECHE)| JAL JAL 22,900 73% |&+ H:23,900
BRFE |[HRCHEH)| JAL JAL 22,900 73% |&+ H:23,900
=5 =4I =R |[RECHE)| JAL JAL 22,900 73% |&+ H:23,900
fRFE [HRCHEH)| JAL JAL 22,900 73% |&+ H:23,900
BERS=49I% ERER [HmCHE)| JAL JAL 22,900 74% %+ H:23900
BRFE [HRCHHE)| JAL JAL 22,900 74% |&+ H:23,900
REEEN LEEFE  [RmCHE)| JAL JAL 27,400 65% | /KA:28,900, %:29,900., £:28,700, H:27,000
wLFE  |[RECHE)] JAL JAL 25,400 68% | H:26,200, /K A:26,800, £:29,000, £:25,300, H:26,500
E=%EA =% |[ERCRA)| JAL JAL 30,200 61% [/KA:31,700. £:34,100. £:32,200. H:30,600
HLFE  |[RECHE)] JAL JAL 28,400 63% | H:29,200, /K A:29,700, £:32,500, £:30,000, H:29,800
RN EEF¥ |[HERRCHHE)| JAL JAL 29,500 62% | H:30.300, /KA:30,200, £:31,300., £:31,700, H:30,100
HEFE  |[RECHE)] JAL JAL 28,100 64% | H:28,900, /K K:29,500, £:30,400, £:27,200, H:29,400
Xoy=®E A% |HRCPA)| JAL JAL 22,000 74% |%+ H:23,000
HEFE  |[RRECHE)] JAL JAL 22,000 74% %+ H:23,000
RBE=%E EIB%E [®mCHE)| JAL JAL 22,500 75% %+ H:23,500
wLFE  |[RECHE)] JAL JAL 22,500 75% %+ H:23,500
EAR=%E AR |[HRCPHA)| JAL JAL 22,500 74% |&+ H:23,500
WL |[RmECHE)] JAL JAL 22,500 74% %+ H:23500
BE=%E5 =R |[RRCRAE)| JAL JAL 22,500 74% |&+ H:23,500
HLFE  [RECHE)] JAL JAL 22,500 74% %+ H:23500
BRE=Fk BRE® |[HRECHE)| JAL JAL 22,500 75% |+ H:23,500
wEFE  |[RmCHE)] JAL JAL 22,500 75% %1 H:23,500
BN =4 fBJIZE  |ERECHE)| JAL JAL 29,800 62% | H:30,500, /K A:31,000, £:32,500, £:31,200, H:33,200
=% [ERCHE)] JAL JAL 30,200 62% | JKA:30,300. %:34,900, £:30,400, H:31,000
EEE=E0 EHAER [ERFECHHE)| JAL JAL 30,100 57% | H:30.900, /KA:31,800, £:33,700, 1:32,200, H:31,600
=% [RRCHE)] JAL JAL 29,100 58% | H:29,900, /KA:32,100, £:35,400, T H:31,800
HE=ES EAER [ERFECHHE)| JAL JAL 28,900 58% | A H:29,800. 7k A:30,100. %:30,800. 1:30,600
mEHE [ERCHE)| JAL JAL 29,200 58% | H:30,000, /K AK:31,700, £:33,400, £:31,300, H:31,600
RRCPE) =8FR [ERCHE) | &g JAL JAL 18,000 66% |H:18,800, 7K:18,100, /K:18,300, £:19,700, + H:15,900
RREFE =L JAL JAL 17,400 67% | H:18,300, /K AK:18,400, £:18,600, £:15,900, H:16,300
KR (BFD =BR HRHE BRfE JAL JAL 20,100 67% [A:22,900, +:21,400, H:22,700
PR (RER) = MBI R ' JTA JAL 25,900 57% |%:26,100, £:26,700, H:27,200
EEH 1= JAL JTA 25,600 57% | A 7kA:24,500. £ H:25,900
BI=1E5 fBJIZE  |[ERECHE)| JAL JAL 29,400 63% | H:29,800, A:30,000, £:30,200, +:29,600, H:32,700
mEHE [ERCHE)| JAL JAL 29,800 62% | /KA:29,900. £:30,900. £:29,700, H:30,800
TEJI=X% MBJIFE  |RECHHE)| JAL JAL 21,400 75% &+ H:22,400
Ao%FE  [RRCHE)] JAL JAL 21,400 75% %1 H:22,400
HIR(EX) =2FR [fLIR(E%) | BEfE JAL JAL 17,600 50% |+ H:14,600
BEHE BREE JAL JAL 17,600 50% | +:17,100. H:14,600
B3R =EE HIlpx 52 LIg (EE)| JAL JAL 19,700 53%
BREEH LIg (EE)| JAL JAL 19,700 53%
=R% LIR(EEH| JAL JAL 23,700 49% |+ H:22,300
FR=EEE FllRFE LI (2| JAL JAL 19,600 55% |+ H:22,500
BEES LiE ()| JAL JAL 22,100 49% | +:23700, H:22,500
FIFR =8I FIRFE LIg (EE)| JAL JAL 19,300 59% |+:19,200, H:23,600
Pl LiE ()| JAL JAL 22,900 51% | H:16,300, £:23,700. B:22,200
=R=FR =R%E LIR(EEH| JAL JAL 18,800 62% |+ H:23,900
BRE=8I BEREF [HECHH)| JAL JAL 21,900 76% |&+ H:22,900
FBJIZE  |ERECHE)| JAL JAL 21,900 76% %+ H:22,900
RiG=1H8JI| RIS [HRCPA)| JAL JAL 21,900 76% |&+ H:22,900
fBJIZE |ERECHE)| JAL JAL 21,900 76% %+ H:22,900
REAR=1EJI| AR |[HRCPHA)| JAL JAL 21,900 75% |&+ H:22,900
fBIIZE  |ERECHE)| JAL JAL 21,900 75% %+ H:22,900
ECEE =R |[ERCRHE)| JAL JAL 21,900 75% |&+ H:22,900
fBJIZE |[ERECHE)| JAL JAL 21,900 75% %1 H8:22,900
RR(CPH) =XE [ERCHE) | BEX JAL JAL 20,700 60% |%:21,100, £:20,900
XEH BEX JAL JAL 20,700 60% [£:21,900, +:22,300, H:21,100
RRCARE| = JAL JAL 26,400 54% | H:25,500, £:28,600, T:27,000. H:29,300
KEHE & JAL JAL 28,600 50% | H:30,000. 7K:28,700, A:29,000. £:31,300, £ H:31,100
KR (D =XE |[KERURFD | BEX JAL JAL 17,000 54%
XEH REA JAL JAL 17,000 54%
KR (FDFE] = JAL JAL 20,100 51% [H:19.800, kA2 +:20,200, H:19,100
KEHE & JAL JAL 19,900 51% | H:20,100, £:20,900, H:20,300
REFTFR) =RERGTRRE| & JAL JAL 26,300 65% | +:27,300, H:27,700
REH & JAL JAL 26,300 65% | +:27,700. H:27,300




BEEXRS=/"kRE| EEXEHR | BAZS JAL JAL 11,900 57%
HKBER | EZE JAL JAL 11,900 57%
weE=HBPHR) | B2EFE | HKRE JAL JAL 15,600 54%
iR (RE) | KB JAL JAL 15,600 54%
HR(HA) =BFS(RZPHR)X| BRS JAL JAL 22,300 62% | Hsk+:22,000, A:22,400. £:23,600. H:23,500
BEYER ERE JAL JAL 21,100 64% [ H:23,000, 7K:20,700, Z:23,600, £:24,700, +:24,300
HR(HA) =EAS(REZFHR)X| EBRS JAL JAL 23,600 61% | H:22,900, 7K:23,300, 7K:23,700, £:24,900, +:24,500
BASH ERE JAL JAL 22,000 64% |%:25,600, £:24,800. H:26,000
KB () =BAB|XRFH| EBRS JAL JAL 20,200 57% | +:21,400. H:19,400
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BASH ERE JAL JAL 15,100 59% | H:13,900
EE=18F5 FRES BERS JAL JAL 14,200 60% | H:13,000
BEYER BERS JAL JAL 14,200 60% | H:13,000
LE=1eJI LEE% |HRCPA)| JAL JAL 26,600 67% |7K:27,400, A& H:27,700. £:32,000, £:27,400
JBIN%E [ERCHE)| JAL JAL 27,200 66% | H7k:27.900, A:28,200, £:29,500, £:26,100, H:30,300
W=k L & JAL JAL 17,700 62% | H:18,400, £:18,700
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BEXEH Eil JAL RAC 16,000 59%
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AIE@FTFR)|  JAL JAL 20,300 73% | %:22,700, £:20,400. B:23,900
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ZimplR |[HEECHE)| JAL JAL 25,300 67% 7K:25,100, A& H:25,400, % £:25,100
AIE@FTFR)|  JAL JAL 20,300 73% |%:22,700, £:20,400. B:23,900
KR (A =Rl | KB (5 % Eﬁm(ﬂm) JAL JAL 26,200 65% | H:26,300. 7K:25,900, &:24,500, F:25,900
JENE I E €t JAL JAL 23,700 69% | H:24,400, 7K:22,800, :25,700, £:24,000, 1:22,800
ABx (B8#E) =ABJIl [ KBk (BAFE) 5 JAL JAL 26,200 65% | H:26,300. 7K:25,900, &:24,500, F:25,900
TEJIZE JAL JAL 23,700 69% | H:24,400, /K:22,800, 7:25,700, £:24,000, 1:22,800
KB (FFH) =8B [ KBk (FFD % JAL JAL 27,300 64% _|7K:26,000, 7:25,000, % *:26,200
S JAL JAL 24,000 68% |7K:23,300, £:25200, +:23,300
ABx (B87E) =#IER [ KBk (BAFA) 5 JAL JAL 27,300 64% _|7K:26,000, :25,000, % 1:26,200
HIERF JAL JAL 24,000 68% |7K:23,300, £:25200, 1:23,300
KR (BFH) =F 56 | KBR (R % JAL JAL 23,300 69% | H:24,500, 7:24,800
HILE JAL JAL 21,700 71%  [7K:20,800, 7K:23,200, £:22,100, +:21,400, H:22,500
KR (BE#8) =5 | KBz (B7E) 5[ 3® JAL JAL 23,300 69% | H:24,500, :24,800
HILFE JAL JAL 21,700 71%  [7K:20,800, 7K:23,200, £:22,100, +:21,400, H:22,500
KR (771 =BEgE | KBR (FFD) %R (3 JAL JAL 23,200 65% | 7K:24,100, :23,400, & 1:24,100
EEEFE |[ERCHHE)| JAL JAL 23,800 64% | 7:25,300. H:25,600
KBR (BETE) =EfE | KRR (BEFE) | RECHE)| JAL JAL 23,200 65%  [7K:24,100, 7K:23,400, £ +£:24,100
BREEH Eﬁm(qqm) JAL JAL 23,800 64% | 7:25,300. H:25,600
KBR (FFH ==IR [ KB (FFD % JAL JAL 23,900 63% % 1:20,600
=R% JAL JAL 23,900 63% |7K:23,300, £:24,600, 1:23,100
Kk (B#8) ==iR [ XBx (B8 % JAL JAL 23,900 63% % 1:20,600
=R% JAL JAL 23,900 63% |7K:23,300, £:24,600, 1:23,100
KR (7 =2k | KBR (FF) % JAL JAL 14,900 60% | JKAK:15,600
ETES JAL JAL 15,100 60% | JKAK:15,800
KB (75 =EEF 5| KR (P H JAL JAL 19,000 60% A H:18,900, A:19,300, £:20,100
BEYER JAL JAL 18,700 61% |A:19,000, £+ H:19,100
KR (D =5=d | KBx (D) 448 (BR&) | JAL [JTA/RAC| 32,000 49%
B0 P48 (BRER) [UTA/RAC|  JAL 30,700 51%
KR (BT == | KBz (B7E) 448 (&) | JTA [JTA/RAC| 33,300 47%  |K:33,100
TEH |85 [JTA/RAC]  JTA 33,100 47% | HK:32,800, £ +:33,000, H:33,300
KB () =R1E [KR(FMH E[F@@ERFH) | JAL [JTA/RAC[ 23,600 66% | %::24,400, F:24,500
RiEFE |88 (F8E) [JTA/RAC| JAL 23,800 66% % H:25,300
KBy (B8#E) =R1E [ Kk (BM) Z[ @& | JTA [JTA/RAC| 33400 52%  %::33,500, 1:33,800
RiEF |88 (F8E) [JTA/RAC| JTA 32,900 52% | A H:33,200
Z2HEE (PE) =%#EH |2 HE (P8 E[LIEFFH)|  JAL JAL 17,900 75% |%:21,300, £:22,700. B:19,300
ZiERIF [ALEFHTFR)|  JAL JAL 19,800 72% |7/K:19,100, A:19,400, F:20,700. H:22,300
ZEE(hE) == [25=(P#0) 5|H4E (BFH)| JTA |[JTA/RAC| 35300 48%
BoOE P48 (BRER) [UTA/RAC|  JTA 35,300 48%
ZEE(hE) =R |25 = () 5|4 (BFH)| JTA |[JTA/RAC| 35500 52%
LiIEZ 835 [JTA/RAC] JTA 35,400 52%
IR FH TR =/MA[ALIEG TR R[EHTHE) | JAL JAL 21,500 68%  JKA%:21,800. H:22,500
MMR% [BRCRA)| JAL JAL 27,000 60% | H:24,500, 7K:27,200, X:26,600, £ +:27,200, H:25,800
IR F TR =AREE[ LR FTR)E : JAL JAL 30,100 60% | %:29,600, £:30,600
e RS JAL JAL 29,000 62% [H:27,900, 7K:28,700, Z:28,200, £:29,600, H:29,800
AL0R (BT F %) =R [ IR T % JAL JAL 26,600 66% | /KA:26,900. H:28,500
fiE] L1 58 JAL JAL 30,000 61% B H:28,000, 7k:31,200, A:30,900, % £:31,100
IR EFFTm) = LB IR FHTR % JAL JAL 31,000 60% | H:30,600. /k:31,400, H:31,700
INEEIES JAL JAL 32,400 59% B H:31,300, 7k:32,600, K:32,500
HIRF TR =LAFH[ALIREF TR % JAL JAL 30,100 64% | /KA:30,500, H:34.300
WA S8R5 JAL JAL 33,600 59% | H:30,200. 7K:33,800, 7K:32,800, £:30,600, +:32,900
ARG Fi%) =HE [ALIR G TFi) 5 JAL JAL 31,000 59%
HER JAL JAL 31,000 59%
WIRFTR) =RES[IREF TR R JAL JAL 31,100 60% |7KA:31,400, % +:31,000, H:32,200
EEH JAL JAL 31,400 59% B H:31,300. 7K:32,200, A:32,100, % £:32,200
WIRFTR) =R [IREG TR % JAL JAL 33,000 57%
BN JAL JAL 33,000 57%
HIRFHTR) =S [LIEGFTFR R JAL JAL 32,700 59% 7K:33,200. A:34,100. % £:32,600. H:34.200
SEIES JAL JAL 34,200 57%
FLIR (BT FiR) = #2100 [4LIR T Fi) % JAL JAL 35,300 56% [/KA:35,700. £:35.800. H:36,200
[NTE Y JAL JAL 36,200 55%
IR FFR) =L M [ALIE FFm) 5 JAL JAL 28,700 66% | /KA:29,000, £:29,700, H:32,200
EZE JAL JAL 30,500 64% B H:29,200, 7k:31,800, A:31,200, % 1:31,800
LR T = K7 IR FH TR % JAL JAL 34,500 59% | H:31,600, /KAK:34,700, H:34,100
P ¥ JAL JAL 33,400 60% | B H:31,600, 7k:33,600, K:32,600, £:32,000, +:34,700
LR FT %) = RIG[ IR FTs) % JAL JAL 35,400 60%  H:31,900, /KA % £:36,400. H:36,000
RIER |® JAL JAL 34,800 60% | H:31,300. 7K:34,900, 7:34,300. £:34,900. 1:35,900
ALIR BT Fim) =RA[HIR FTR) & JAL JAL 33,600 60% | H:30,500. 7K:35,500, &:35,000, % £:35,100. H:33,200
AR JAL JAL 34,900 59% |7K:33,500, A:32,500, £:33,300, T:35,600
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A JAL JAL 34,600 59% | H:29,400. 7K:34,400. 7K:33,800, £:34,400, +:35,600
HRFFR) =BRS[ALIEFHTm) JAL JAL 37,000 58% | H:32,300, /KA:37,700., % £:37,300. H:35.500
EBR JAL JAL 35,500 59% | H:30,600. 7K:32,400, 7K:31,800, £:35,600, 1:36.400
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Z2HEE (P& JTA JAL 34,900 62% |+ H:35400
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FLIR (BT i) == o | 1L i Fm) | B (PE) | JAL JTA 13,000 88% |7/K:11,000. 7&:11,800
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AIE@FTFR)|  JAL JAL 22,300 75% |+ H:25,000
ZimplR |[HEECHE)| JAL JAL 36,200 61% |/K:31,600, A:34,700, £:36,000. T:31,700
AIE@FTFR)|  JAL JAL 20,700 76% | H:22,400
fEE =8I EEFE  [ERCEE)| JAL JAL 32,300 65% |7K:32,400, 7K:31,000, £:32,700, +:32,600, H:32,900
EE =8I JBINI%E [ERCHE)| JAL JAL 30,300 67% | H:31,000, &:31,700, £:35,200, +:28,700, H:35.100
1R =8I8% EEFE |[ERCHE)| JAL JAL 36,400 60% | A H:35,200. &:35,500
HEFE [HRCHEH)| JAL JAL 29,800 67% [H:29,500, £:33,400, H:31,500
[EEEEDN BEFE |[ERCHE)| JAL JAL 33,400 63% | 7:34,900. H:34,200
HEFE  |[RRECHE)] JAL JAL 32,400 64% |7/K:27,600, A:30,800, £:33,300. T:28,800
&R =g wEFE [ERERCHHE)| JAL JAL 33,500 59% [H:33,000, 7K:34,800, &:34,100, £ +:34,800, H:32,900
KB (FFD|  JAL JAL 24,000 68% |7/K:20,600, 7:22,800
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AR (R | JAL JAL 21,700 71%  |A+£:24,500, H:25,600
BE=F% wEFE [ERCHHE)| JAL JAL 23,000 72% |&+ H:23,800
KBR (FFFD|  JAL JAL 18,500 74% A 7KA:16,800, £+:19,000, H:20,900
BEHRE [ER@H)| JAL JAL 23,000 72% %+ H:23.800
KB (FFFD|  JAL JAL 20,200 72% B J/KAH:18,600, £:18,900, £:19,000
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JAL JAL 32,700 56% | H:31,800. 7/K:33,600, A:33,100, % *:33,600, H:33,000
HE=ES JAL JAL 30,400 59% | H:30,200, 7:31,200, £ +:30,300. H:32,100
ES: \<~ JAL JAL 31,100 58% | H:30,100. 7K:30,900, A&+ H:31,300, %:31,400
RR(CPE) =ER Eﬁmmm)% B JAL JAL 21,200 62% KA®1:21,300
HRFE K JAL JAL 19,300 65% | H:19,100, A:20,100, H:18,600
KR (BFD =BR B F B JAL JAL 20,500 68% |/:23,300, £:21,400, H:22,700
PR (RER) = MBI R ' JTA JAL 26,700 58% |£:26,900. 1 H:27,200
EEH & JAL JTA 26,500 58% | +:26,900, H:26,700
BIN=ES fBJI% [ERFECHAE)| JAL JAL 29,400 65% | H:31,000, A:30,900, £ +:29,300. H:32,000
EEH Eﬁm(qqm) JAL JAL 30,800 63% | H:30.300, KA +:30,400. H:30,900
BII=X% JEES B JAL JAL 21,400 76% %+ H:22,400
Xn%E  |[HRECP JAL JAL 21,400 76% %1 H:22,400
HIR(EX) =2FR [fLIR(E%) | BEfE JAL JAL 17,600 54% |+ H:14,600
HRHE BREE JAL JAL 17,600 54% | +:17,100, H:14,600
B3R =EE %JIIE%% LIg (EE)| JAL JAL 19,700 57%
JAL JAL 19,700 57%
HIER==IR JAL JAL 18,700 64% |7K:13,.300
JAL JAL 23,700 54%
R =EEE JAL JAL 20,400 57% | +:22,500, H:23,700
JAL JAL 23,600 50% | 1:23,700
R =48I JAL JAL 20,100 61% | H:23,700
JAL JAL 23,700 54%
=R=FR JAL JAL 19,600 64% |+ H:23,900
BRE=8I JAL JAL 21,900 77% f-— H:22,900
JAL JAL 21,900 77%
RiG=1H8JI| JAL JAL 21,900 77%
BN [ERECHHE)| JAL JAL 21,900 77%
REAR=1E)I A% |HFCAA)| JAL JAL 21,900 76%
HBJIFE [ERFECHHE)| JAL JAL 21,900 76%
GRS =R |EFCAR)| JAL JAL 21,900 76%
JBJIFE [ERFECHE)| JAL JAL 21,900 76% 122,
RECHH) =XE [ERCHH) | ®BX JAL JAL 26,500 52% H 23,200, JK A% £.28,000. H:23,000
REH RS JAL JAL 23,400 58% | HsKA® H:22,900
RRECRA) % EE JAL JAL 26,400 57% | 7:29,600, £:31,500, F:27,800. H:30,100
REFH [ JAL JAL 32,200 47% _|£:33,700. H:31,900
KR (RFH =XE [ KIRURFDH| &K JAL JAL 18,900 53%
REH AR JAL JAL 18,900 53%
ABR (D) %[ 486 JAL JAL 20,600 54% |%:20,900, F:21,000, H:19,900
x (e JAL JAL 18,800 58% |2 H:21,100, £:20,700
[fLIR T m) =RE[LRFTR & 1Eh JAL JAL 27,400 65% |+ H:29,200
REH 12k JAL JAL 27,400 65% |+ H:29,200




[EEXE=/KEH] BEXEX | #rE JAL JAL 11,900 57%
HKBER | EZE JAL JAL 11,900 57%
[EZE=FR@MBH)| FEZER | KBS JAL JAL 15,600 56%
iR (RE) | KB JAL JAL 15,600 56%
[ERCPE) =RBFE[Ez(PH)¥| BERS JAL JAL 28,600 53% | A H:27,400, 7k &:28,800. £:28,300
BEYER ERE JAL JAL 24,000 61% | H:24.400, KA:21,900, £:24,700, 1:24,900, H:25,100
[ERCPE) =BAB[ZZ(PE)¥| BERS JAL JAL 29,900 52% | A H:28,700. 7k &:30,100. £:29,200
BASH BERS JAL JAL 24,500 61% | H:25300, /KA:23,600, £:26,400, 1:25400, H:27,300
KR () =BAS| KB UFD H| BRES JAL JAL 20,300 59% B H:20,200., A:20,600, £:21,400
BASH ERE JAL JAL 19,200 61% |% H:20,800
BERE=1HEH)| BEESFE | EXXE | JAL RAC 24,400 57% | H:24,800
hiE(BE) K| BEKES | RAC JAL 25,200 56% | %:26,000
BE=BAE FEES ERE JAL JAL 15,500 61% B H:15100
BASH BERS JAL JAL 15,100 62%
EE=18F5 FRES ERE JAL JAL 14,600 62% B H:14.200
BEYER ERE JAL JAL 14,200 63%
[ LE=1BJI LEE% |HRCPA)| JAL JAL 30,600 64% | B H:30,300. 7k:30,700. A:29,800. £:31,300, 1:30,700
JBIN%E [ERCHE)| JAL JAL 28,100 67% | B A:29,800, H:30,400
W=k [ = JAL JAL 17,800 65% | H:17,700, 7:18,000, % H:18,400, £:19,500
B (IRER) =E|E K h#E (RF) Fil RAC JAL 16,000 60%
BEXEH 5 JAL RAC 16,000 60%
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